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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the 5th termrof an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?
(a) -6 w%n?c) 0 (d)3

' 2. Adie is thrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (Au B)is

(a)3/5 (b) 0 1 (d) 52

3.If Cos x + sin x =a then the value of cos 2x is

@a  ®aV2-a  wl2te @@~

4.1f 1+ VI+X) tan x = 1+ VI+X then sin4x =

(a) 4x (b) 2x M | (d) none of these
9=x+l '
5. For the real value of cos X then

(a) @ isacute angle (b) 0 is obtuse angle  (c) right angle @Mﬁ; of these

E a ;
> L
a= —1— p= l ‘\j\/&/ F Q{\‘\\EO\\-LG
6. If tan 7, tan 3, thencos2®= - \; Q%\U 0% 2

AR
VA g
— p p o
(a) Sin2 Z \/eﬂ/Si’n 4P (c) Sin 4 (d) cos2 a9 e

cosmx

e

|
201 8_[ coszx ~COSAX
7. The value of 0 € te is

(a) 1008 yﬁw (¢)2017  (d) 2000




dy
8.1 2" +2" =277 then dr arx=1=y

(2) 0 o @1 d)2

-1
L% —x
cos”' (

9. Derivative of x+x atx=-1is

(a) -2 (b) -1 KoL T @

10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i:

1 3 1 1
A R U OB () 30
11.The value of gravitational acceleration on Earth is
(a) 9.8 m/s M m/s> () 8.9 m/s (d) 8.9 m/s>

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s surfacel

\(})/36(‘)00 km above the earth surface (b) 40000 km above the earth surface
(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

Measés ao cight increases from the earth. (b) dcereases as height increases from the earth.
(c) remains constant. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun
\(mg{ewitational force due to earth (d) Thrust produced by burning fuel

15..1n which region of earth the weight of a body is slightly greater than the other regions? -
\,ﬁm polar region  (b) At equator (c) Tropic of Cancer (d) None of this

{6.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 km/sec MZ’km/sec (d) 12 ks :

-

17.How much time does a polar satellite take to complete one revolution around earth?

(a) 1 hour 30 min Mours (c) 2 hour 20 min (d) 3 hour

V' . - -
18.In case of a planet’s motion on its circular orbit



(a) its velocity remains constant in its orbit its angular velocity remains constant

(c) its total angular momentum remains constant. ?d) radius of orbit remains constant.
19.1f the radius of earth is decreased keeping its mass constant, then the length of day will
\/(ga_ﬂgcirease (b) Increase  (c) remain same (d) cannot say
V20.If the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease \_/(p}__r{main same (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
rbon monoxide and nitrogen d) carbon dioxide and nitrogen
yen two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
b) 2V
¢) Greater than 2V d))LesEman 2V
23. The heat of solution or mixing has a negative side. :
a) Heat of solution Heat of dissolution
c¢) Heat of reaction d) Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. Tie answer is
\,a'f{(f;al' Solution b) Non-Ideal solution
c¢) Real Solution d) None of the mentioned
25. What is-an example of camphor in N2 gas?
Solid in gas solution b) Gas in gas solution
¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution?
olute and solvent b) Solute and solute
\_¢)Solvent and solvent d) None of the above
"27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite

c) Nitroalkane \__d)Hydrocarbon
28. Which of the following statements about SN2 mechanisms is incorrect?
) The transition state is stable

“ b) The complete mechanism takes place in a single step B
c) The rate of the reaction depends on the concentration of both reactants . !
d) There is an inversion of configuration /\
29. What is 3-Bremopropene’s common name? S
llyl bromide b) Vinyl bromide ‘\‘U.J A e
c) Tert-Butyl bromide d) Propylidene bromide \\' " J‘\Li,c \\\\\
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? o b\;\ *\\L B ¥ 20?
a) red phosphorous - b) concentrated H2504 (\L}\v U\‘a
\/c)aﬁﬁydrous ZnCI2 d) pyridine \z‘.\} 0\)\\
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the Sth term of an arithmetric progre’ssion is 17 and the 9th term is 37. What is the 1st term?

(a)-6 (b3 (©)0 (d)3.__
) 2. Adie is thrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A u B)is

(a) 3/5 (b)0 \(Q/P (d) 5/2
3.If Cos x + sin x =a then the value of cos 2x is
(a) a b)av2-a  (gav2+a (g a1
b2
4.1f (1+ VI+X ) tan x = 1+ VI+X then sin 4x =

(a) 4x (b) 2x o (~"(d) none of these

1
f=x+—
5. For the real value of cos X then

(a) ¢ isacuteangle (b) 0 is obtuse angle (c) right angle  (d) nene of these

1 1
a=— ﬂ:—
6. If tan 7, tan 3 then cos 2@ =

= . 4\\.\‘29{ 2 Lv
(a) Sin28 (b Sin4 p (c)Sin4h (d) cos2” cad CoNe®
AAIIe AN -‘b‘}‘
D e o
COSXX = ‘\J;\‘\_: .\ (-3(\)
201 8_[ PEE g~ cos X ks W '\)\)\\l )
7. The value of 0 ¢ - is

() 1008 (BA009 (c)2017  (d)2000
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dy
8.1 2" +2" =2 then & atx=1=y

(a) 0 (D% S (c)1 (d)2
- | _
cos™'( x-‘ ad

9. Derivative of X +X atx=-lis
(a) 2 -1 (@ @1
10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i

1o 3 1 u
\(/a)ﬁ (b) 10 (c) 30 (d) 30

11.The value of gravitational acceleration on Earth is
(a) 9.8 m/s \(/b)/qS m/s’ (c) 8.9 m/s (d) 8.9 m/s?

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s surfacd_)

\(9/3{3000 km above the earth surface (b) 40000 km above the earth surface
(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

\(ﬁa’ﬁéreases as heigui increases from the earth. (b) decreazcs as height increases from the earth.
(c) remains constant. - (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun
{(_:)/éravitational force due to earth (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is slightly greater than the other regions?
@(At polzlr region  (b) At equator (c) Tropic of Cancer (d) None of this

16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 kmfjgg LAt km/’s;.ec (d) 12 kim/s

17.How much time does a polar satellite take to complete one revolution around earth?

(a) 1 hour 30 min W'/hours (c) 2 hour 20 min (d) 3 hour

18.1In case of a planet’s motion on its circular orbit



- (a)"its velocity remains constant in its orbit ,@)«rrs/ angular velocity remains constant
(c) its total angular momentum remains constant. (d) radius of orbit remains constant.
19.1f the raflius of earth is decreased keeping its mass constant, then the length of day will

Mcrease (b) Increase  (c) remain same (d) cannot say
2/0.If the earth would stop rotating then the weight of an object on north pole will
(a) increase \(b}decrease (c) re if : ;ame (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
\.©)-carbon monoxide and nitrogen d) carbon dioxide and nitrogen

22. When two perfect solutions with volume V each are comblned What is the volume of the solution as a result?
a)V b2V

c) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side. 7

(™ a) Heat of solution by Heat of dissolution
¢) Heat of reaction d) Heat of mixing

24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
pro 9rt1es The answer is

-.ay deal Solution b) Non-Ideal solution
¢) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas? |

Solld in gas solution b) Gas in gas solution

¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution?

.a) Solute and solvent b) Solute and solute
c)Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
c) Nitroalkane dydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?
. a)yThe transition state is stable
/™  b) The complete mechanism takes place in a single step
" ¢) The rate of the reaction depends on the concentration of both reactants
d) There is an inversion of configuration
29. What is }-Bromopropene’s common name?

a) Allyl b mide b) Vinyl bromide &
. c)/Tert Butyl'bromide d) Propylidene bromide \ &é,e'\“\ G\\'n.“a
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? R N’J. AT 20
a) red phosphorous-, b) concentrated H?_SO4' ‘ ‘Q,\\‘ ARS o e
SahydiogsnCl2 Dpyrdme o 9
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Note:- _Attempt all Questions. Each question is of 1 mark.

1. If the 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?

(76 (b)-3 ()0 (@3 >

2. A die is thrown. Let A be the event that the number obtained is gre;ter than 3. Let B be the event that the
number obtained is less than 5. Then P (A v B)is

1
3.If Cos x + sin x =a then the value of cos 2x is

»

N2—-a N2+a a -1
(a) a (b)a Jg,)/a' (d) &
4.0 ¢i+ VI+X ) tan x = 14+ VI+X then sin 4x =

(a) 4x (b) 2x y (d) none cf these

9=x+l

5. For the real value of cos X then

(a) ¢ isacute angle (/b)/6 is obtuse angle  (c) right angle  (d) none pf;_t\'hese

1 1 . /E
6.Iftana=7 tanﬁzg then cos 2% = 0\%{/'
N

-\\\."‘*i‘ LA
. . o i B e gnet

(a) Sin2” (bySin 4 p (c)Sin4 (d) cos2 7. 0‘33{\'1\; 0% ad

. | cos x : c \'\‘\}.\‘_ﬁ (}“ o A

2018[ ot @D e
CosSmY —-COSTX ) Ve \ “\ A
7. The value of 0 € e is
(a) 1008 /(b)f 1009 (c)2017 (d) 2000 5 q »
oirecto’ ~one

gngines
Du\,"\ a\




dy
g.1f 2" +27 =2x+ythen d atx=1=y

(a) 0 b )1 « @2

—X.

_1.,X
cos™
o = .
9. Derivative of X +X atx=-lis

|

(a) -2 (b)-1 @@

10. A number is chosen form among the first 30 natural numbers, The probability that the number is a prime number i
1 3 1 11 f
JCE CECNCE N O EO
11.The value of gravitatiénal acceleration on Earth is
@98m/s (b)28mis®  ()89fs  (d)8.9m/s
12.What would be the height of an aﬂiﬁ;iql satellite so that it remains stationary with respect to earth’s surfaces’
y)/.%OOO km above the earth :sljf'faCe | (b) 40000 km above the earth surface

(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

i /(aa’increases as height increases from the eart... - (b) decreases as height increases froz:.the earth.
(¢) remains constant. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun
ygravitational force due to earth v (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is slight!y greater than the other regions?
’(a’)/At polar region  (b) At equator (c) Tropic’"éf Cancer (d) None of this

16.Whatl is the value of the escape velocity of earth? () 9.8 km/sec (b) 10 km/sec y 12 kﬁl/sec {d) 12 kim/+

17.How much time does a polar satellite take to complete one revolution around earth?

(a) 1 hour 30 min }b72 hours _{(c) 2 hour 20 min (d) 3 hour
-
18.In case of a planet’s motion on its circular orbit



() its velocity remains constant in its orbit }bﬂflts angularvelocity remains constant
-
(c) its total angular momentum remains constant. (d) radius of orbit remains constant.
19.If the radius of earth is decreased keeping its mass constant, then the length of day will
1

9/d’ecrease (b) Increase (© remain same (d) cannot say

20.If the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease _(eyTemain same- ~ (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
_o) €arbon monoxide and nitrogen d) carbon dioxide and nitrogen

22. When two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a) Vv BYIVe

c) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side. :
/™ a) Heat of solution _b) Heat of dissolution

c) Heat of reaction d) Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. The answer is

,a)’fgveglls'olution b) Non-Ideal solution
c) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas?

) Solid in gas solution b) Gas in gas solution
c) Solid in liquid solution o d) Liquid in gas solution
26. What makes a solution? '

_3ySolute and solvent b) Solute and solute
c¢) Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAIH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane dyflydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?
a) Phe transition state is stable

g, b) Thecomplete mechanism takes place in a single step
¢) The rate of the reaction depends on the concentration of both reactants
d) There is an inversion of configuration

29. What is 3-Bromopropene’s common name? \
Iyl bromide b) Vinyl bromide L \
¢) Tert-Butyl bromide d) Propylidene bromide a
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCJ? - S5 (e
a) red phosphorous . b) concentrated H2S04 &Q,e“‘ - “0\\ .
Q,Jﬁ'hydrous InC12 d) pyridine _«’Q.L\\\ ,P:;-;:\'“\f“\‘:;“l‘\i
v/ Ay & 00:\% b\-\-}”
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Note:- _Attempt all Questions. Each question is of 1 mark.

1. If the 5th tepm of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?
(a) -6 ()0 (d)3

2. Adieis thrown Let A be the event that the number obtamed is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A u B) is

(a) 3/5 ®0 (T (@52
3.If Cos x + sin x =a then the value of cos 2x is

(a) a byav2-a  (a¥2ta ()@l

41F 1+ VI+ Xy tan x = i+V1+X then sin 4x =

(a) 4x (b) 2x \/@ﬁ (d) none of these
9=x+l
5. For the real value of cos X then
(a) @ isacuteangle (b) 0 is obtuse angle  (c) right angle Whe of these p
o 1 5 1 | 7
= — = — ! :\C‘b PRV
6. If tan 7, tan 3, thencos2@®= \\, : G.‘\Q. \:: C __\\\c“:
~oaXy VBB al
B ? 4B 4B p D e
(a) Sin2 \9;;41;1 4B (¢)Sin4 (d) cos2 o B O
: - D) uh
201 SJ cosmx —COSH-\’
7. The value of 0 € is
M
(a) 1008 \(9/1’009. (c) 2017 (d) 2000 - ;A}L
i)‘\f'”‘ -

@
QY O 8

" 2

ol i.\’bv



dy *
8. If 2" +2 =2Hythen dr atx=1=y

@0 A (@l @2

9. Derivative of X +X atx=-1lis

(a) -2 (b) -1 ()0~ ()1

10. A number is chosen form among the first 30 natural numbcrs.' The probability that the number is a prime number i:

1 3 1 11

w3 @m0 (g 30 @) 30

11.The value of gravitational acceleration on Earth is

(a) 9.8 m/s M m/s? (c) 8.9 m/s (d) 8.9 m/s?

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s surfacc

\WOO km above the earth surface (b) 40000 km above the earth surface
(c)\(26000 km abo;fe the earth surface (d) 63000 km above the earth surface
13.The value of gravitational acceleration

\La,)ﬁ@ases as Liight increases from the earth. (b) dec:zazes as height increases from the earth.
(c)..remains constaiit. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun
&@vitaﬁonal force due to earth (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is slightly greater than the other regions?

"‘
\M polar region  (b) At equator (c) Tropic of Cancer (d) None of this

16.What is the value of the escape velocity of earth? () 9.8 km/sec (b) 10 km/sec (c)AT-2km/sec  (d) 12 ki

-

17.How much time does a polar satellite take to complete one revolution around earth?

(a) 1 hour 30 min \Murs (¢c) 2 hour 20 min (d) 3 hour

o’

18.In case of a planet’s motion on its circular orbit



-

| () its velocity remains constant in its orbit \J,br@ngulai velocity remains constant
(c) its total angular momentum remains constant. (d) radius of orbit remains constant.
19.1f the radius of earth is decreased keeping its mass constant, then the length of day will
Mreasc (b) Increase  (c) remain same  (d) cannot say

20.If the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease \_/(c}ﬁnain same (d) be zero

21. Producer gas is defined as which of the following mixtures?

yon dioxide and hydrogen b) carbon monoxide and hydrogen
carbon monoxide and nitrogen d) carbon dioxide and nitrogen
— 22.VWhen two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a) !\/Sﬁ\?‘m
¢) Greater than 2V - d) Less than 2V
23. The heat of solution or mixing has a negative side. -
(™ a) Heat of solution A\_/,b)/H’eat of dissolution
c) Heat of reaction ~ d) Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. The answer is
\A)/Ig::l Solution b) Non-Ideal solution
“ ¢) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas?
\,a'y%id in gas solution b) Gas in gas solution
__~c¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution? '
\_A')’S%l—f:te and solvent b) Solute and solute
" ¢) Solvent and solvent’ d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane —dyHydrocarbon
28. Which of the following statements about SN2 mechanisms is incorrect?
a) The transition state is stable ;«.
~ \jj)?ﬁ ggm\sl_ete mechanism takes place in a single step N
he rate 0f the reaction depends on the concentration of both reactants 4 |
d) There is an inversion of configuration \[\NH"\\\\:%_ ey
29. What is 3-Bromopropene’s common name? I _:,_‘, coNes
Myl bromide b) Vinyl bromide \»"?;—_\C'\\\C':f\:;\ubnd
¢) Tert-Butyl bromide d) Propylidene bromide - \"‘\;\'\ _Gy®
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? Dt
a) red phosphorous ' b) concentrated H2SO4. '
=¥ anhydrous ZnCI2 d) pyridine
Qhas/ o
ﬁf/ o O
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?

(@6 A3 (€0 (d)3
2. A die is thrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A v B) is1

(a) 3/5 (b)0 (el (d) 572

3.If Cos x + sin x =a then the value o%ds 2x is
@a  (hav2-a  (aV2ta (g a -]
o
—
4.1f(14+ V¥ ) tan x = 1+ V1+X then sin4x =

(a) 4x ‘ (o) 2x (c)x W(d) none of these

6’=x+l

5. For the real value of cos X then

(a) ¢ isacuteangle (b) 6 is obtuse angle (c) right angle _(é)none of these . f
K™
a= l B= ]_ " ,&Q‘G\\{‘%‘; ‘.‘\.C‘ét

6. If tan 7 , tan 3 thencos2@=

y
":_\'\'\ i PR ?—:- ( 2k
\)\' "\3.:‘~\‘ _\ ,'f"\‘.\o
2P 0sf 1 ©sinsP p B
(a) Sin2 %r}_ 4 (c)Sin 4 (d) cos2 Y
] ecos;rx
201 SI cosTx —cosax & 0_,6

7. The value of o , Te is d\°‘ Go\\i
o'\‘e ee{\(\g\,a‘("""\ §

@1008  ())I00  (©2017 (@) 2000 o

g @




dy
g.1f 2" +27 =2x+ythen dx atx=1=y

() 0 N o (c)1 2
cos™ X %
9. Derivative of X +x" atx=-1is
(a) -2 (b) -1 (o0 " (@1
10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i:
1.y & 1 u
e ® 10 (30 (d) 30

11.The value of gravitational acceleration on Earth is

(a) 9.8 m/s (b) 938 m/s? \' (c) 8.9 m/s (d) 8.9 m/s

12.What would bt;-;he height of an artificial satellite so that it remains stationary with féépect to earth’s surfaces
y’{ §QO_0 km““above the earth surface {(b) 40000 km above the earth surface

(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

: y'ncreases as height increases from the earth. - (b) decreases as height increases from thz earth.
(c) remains constant. (d) Norne of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun

(},)«gravitational force due to earth (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is slightly greater than the other regions?
Wt polar region ;(b) At equator (c) Tropic of Cancer (d) None of this

16.What is tl;e value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 km/sec (c) 4.2 Km/sec (d) 12 km/s
17.How much time does a polar satellite take to complete one revolution around earth? |

(a) 1 hour 30 min 912 hours | (¢) 2 hour 20 min (d) 3 hour

18.In case of a planet’s motion on its circular orbit



"(a) its velocity remains constant in its orbit }bﬂts angular ifelocity remains constant
-

(c) its total angular momentum remains constant. (d) radius of orbit remains constant.

19.If the radius of earth is decreased keeping its mass constant, then the length of day will

A
(a) decrease Mcrcase (c) remain same (d) cannot say

20.If the earth would stop rotating then the weight of an object on north pole will
(a) increase Mgérease (c) remain same (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
f carbon monoxide and nitrogen d) carbon dioxide and nitrogen
22. When two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a)V )2V
c¢) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side.
™ a) Heat of solution by Heat of chssolution
c) Heat of reaction d) Heat of mixing

24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
propertles The answer is

_ay'1deal Solution b) Non-Ideal solution
¢) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas? '
Solid in gas solution b) Gas in gas solution
c) Sofid in liquid solution ‘ d) Liquid in gas solution
26. What makes a solution? '
_af Solute and solvent b) Solute and solute
¢) Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane _dHydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?
he transition state is stable

/™ b)The complete mechanism takes place in a single step
c) The rate of the reaction depends on the concentration of both reactants —/
d) There is an inversion of configuration .
29. What is 3-Bromopropene’s common name? e\r,\\“ R\
Ml’yl bromide b) Vinyl bromide et® B ‘ \w\ o A\\
c) Tert-Butyl bromide d) Propylidene bromide Yoo _\\’(_ ol
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI1? Q. - f) ah
a) red phosphorous b) concentrated HZSO4‘ . Lt
¢) anhydrous ZnCI2 d) pyridine
/
—~De
& " P
CJO\\GQ 191\ 8:;'\\"-0: 202
E-ng\ﬂ \,\aL







Pushplata Scholarship Scheme

Qualifying Examination Time: - 2 Hrs
Admission Year — (2022-23)

Name of Applicant: - Kﬁcl'\,f Mﬁg ]-\,q,tﬁb Q,- &) " . @\

n *h v il ;?#-5?/ (}6\\0%*&;\
Father’s Name: - R.%Mje(’f Mrehsa 20 B nl)
' N = W\ /Y

Branch (to be opted):- .- ... T Ny s/

Note:- Attempt all Questions. Each question is of 1 mark.

1. If the 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?

@6 ()13 (©0 @3
' 2. A die isthfown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A u B) is

(a) 3/5 (b) 0 (L ()52

3.If Cos x + sin x =a then the value of cos 2x is

@a  Ga2e @are @a-]

41 (1+ VI+X) tan x = 1+ V1+X thensindx =

(a) 4x (b) 2x “Ugx (d) none of these
6=x+l
5. For the real value of cos X then

(a) ¢ isacuteangle (b) ¥ isobtuse angle (c) right angle @))_Qne of these N
1 - A
|

1
o =— ﬂ —_—
6. If tan 7 , tan 3 thencos 2= S . ag
= ,\L\,": @ ¢ ._\\“h =
(a) Sin28 (b)Sin4 B () Sin4# () cos2? oo PO e
W L P
) I cosx \ K‘»\\.\}‘-’T“:\,C\{\I
20] SI CDSIS —COsSaX \}" \‘1 .‘\\-)\:.\“u\ |
7. The value of 0€ 7 +e is
(a) 1008 (b)Y 1009 (c) 2017  (d) 2000 . Q..
ol (ec,\o§3 col e
o i 9 o7
6\ \} GO'{\ Q Er\%‘_\\ C‘(-\’A
0@\(\2’ 3\0%




dy « t
8. If 2" +27 =2x+ythen dx atx=1=y

(a) 0 \(12/1 ' (€)1 (d)2

=

cos™ (2%
9. Derivative of X +x" atx=-1is
(a) -2 (b) -1 NOZ (@1
10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i
. R 2 3 L1
@3 (b) 10 (© 30 d) 30

11.The value of gravitational acceleration on Earth is

(a) 9.8 m/s @/9/8 ol (c) 8.9 m/s (d) 8.9 m/s*

12.What would be the height of an artificial satellite /so that it remains stationary with respect to earth’s surfaccc
(a) 36000 km above the earth surface -J‘lj_ﬁ)/()\OO km above the earth surface

(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

Mcreases as height increases from the e i (b) decreases as height increases from the earth.
—
(c) remains constant. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by
(a) fuel contained in the satellite (b) gravitational force due to sun

v(ﬁf{ g,lja\flfétli‘;)nal force due to earth ' (d) Thrust produced by burning fuel
15.In which region of earth the weight of a body is slightly greater than the other regions?

A kf;‘t_‘polal‘ r;gion (b) At equator (c) Tropic of Cancer (d) None of this

16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 km/sec (c)/ 1.2 km/isec (d) 12 km/s
17.How much time does a polar satellite take to complete one revolution around earth?
(a) 1 hour 30 min (‘I%J}fﬁ:ou;s (c) 2 hour 20 min (d) 3 hour

18.In case of a planet’s motion on its circular orbit



(a) its velocity remains constant in its orbit @/ its'angular velocity remains constant
(c) its total angular momentum remains constant. (d) radius of orbit remains constant.
19.1If the radius of earth is decreased keeping its mass constant, then the length of day will
\(})/dé’crease (b) Increase (c) remain same (d) cannot say

20.1f the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease «(c)remain same (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen

_c)-carbon monoxide and nitrogen d) carbon dioxide and nitrogen
22. When two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a)V by2ZV :
¢) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side.

N a) Heat of solution «_byHeat of dissolution

c¢) Heat of reaction d)-Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa -
properties. The answer is

..a)ldeal Solution b) Non-Ideal solution
c¢) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas?

._a)Solid in gas solution b) Gas in gas solution

¢)-Solid in liquid solution d) Liquid in gas solution
26. What makes a solution? -

.a)-Solute and solvent b) Solute and solute

«¢) Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
c) Nitroalkane {ydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?
a)The transition state is stable
M b) The complete mechanism takes place in a single step

¢) The rate of the reaction depends on the concentration of both reactants D

d) There is an inversion of configuration .

29. What is 3-Bromopropene’s common name? ‘ ' 4 /.—"'
. a)yAllyl bromide b) Vinyl .bromxde - RO
‘c) Tert-Butyl bromide d) Propylidene brom{de \\J\—N \"*‘(\”.61 cow

30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI1? o305 o102 2

a) red phosphorous b) concentrated H2SO4 \.1)ﬁ3-.t~f‘s'f‘ G\;;-:J*"
\P}arm/sdrous ZnCI2 d) pyridine Y .\7"‘-“\\“\.
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the Sth term of an arithmetric progression is 17 and t’he 9th term is 37. What is the 1st term?
™ 6 (b)-3 ()0 (d)3 i

2. A die is thrown. Let A be the event that the numbe'r&ained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A u B) is

@35 ®0 T @52

3.1f Cos x + sin x =a then the value of cos 2x is

@a  (Ma2-a (gal2re | @a-l

C4IF(1+ V14X tan x = 1+ V1+X then sin 4x =

(a) 4x (b) 2x (c) | (d) none of these

6’=x+l
5. For the real value of cos X then

(a) ¢ isacuteangle (b) 0 is obtuse angle  (c) right angle an of these

1 1 -
a=— ﬁ -—
6.Iftan 7, tan 3 thencos2& = B
o st L NP

- " C‘}bu ) ("’\' R

(a)Sin 2/ (b) Sin 47 ©sinaf @628 oo PO ant ol

\ 0\, 1-_\\3_'\-""\\,;[:\;
| cosAX ?)0’\:‘. o L’
20 1 8-[ COSI? =COsSaTX \S‘- 0 l &‘)‘\;\\:\
7. The value of € te is

(a) 1008  (b) JOO9  (c)2017 (d)2000 s

Director
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dy
8.182° +27 =2 then dr atx=1=y

@wo @ @2

w

=1
X =

cos™ (—
9. Derivative of X +X atx=-lis

(a) -2 (b) -1 \/mf _ @1

10. A number is chosen form a@ng the first 30 natural numbers. The probability that the number is a prime number i
1 3 1 11
o w0 @30 @30
11 .”fhe value of gravitational acceleration on Earth is
(2)9.8m/s  (by98 ns? ©89m/s  (d)8.9m/s

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s surface'sw’

MO km above the earth surface (b) 40000 km above the earth surface -
(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

v Mreases as height increases from .. earth. (b) decreases as height increaces from the earth.
(c) remains constant. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun
‘/(6'grayitational force due to earth (d) Thrust produced by burning fuel

15.In which rggion of earth the weight of a body is slightly greater than the other regions?

\}a‘){t' polar region  (b) At equator (c) Tropic of Cancer (d) None of this
16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 km/sec_ M’ km/sec (d) 12 ks
17.How much time does a polar satellite take to complete one revolution around earth?

(a) 1 hour 30 min Wrs (¢) 2 hour 20 min (d) 3 hour

18.In case of a planet’s motion on its circular orbit



- {a) its velocity remains constant in its orbit \,(bjus/arigular velocity remains constant
L

(c) its total angular momentum remains constant. (d) radius of orbit remains constant.

19.1f the radius of earth is decreased keeping its mass constant, then the length of day will
Mreﬁse (b) Increase  (c) remain same (d) cannot say

20.If the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease \/(ﬁﬁ;ih same .' (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbonrdioxide and hydrogen b) carbon monoxide and hydrogen
carbon monoxide and nitrogen d) carbon dioxide and nitrogen
‘2;2VWhen two perfect solutions with volume V eztcggygmbmed What is the volume of the solution as a result?
a pAT
¢) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side.
(™ a) Heat of solution \_byHeat of dissolution
c) Heat of reaction d) Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. The answer is
\/&gzal Solution b) Non-Ideal solution
¢) Real Solution d) None of the mentioned
25, it is an example of camphor in N2 gas? '
xA’)%ILI}:lZ in gas solution b) Gas in gas solution
"¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution? =
olute and solvent b) Solute and solute
¢) Solvent and solvent ) d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane \;’))’ﬁ/lkyl nitrite
¢) Nitroalkane ydrocarbon

28. Which of the foilowmg statements about SN2 mechanisms is incorrect?
he transition state is stable
™ _ b)The complete mechanism takes place in a single step
" ¢) The rate of the reaction depends on the concentration of both reactants

d) There is an inversion of configuration 3
29. What is 3-Bromopropene’s common name? . /Iy
Myl bromide b) Vinyl .bromide . ‘
¢) Tert-Butyl bromide d) Propylidene bromide A ¢
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? e ( RN
a) red phosphorous b) concentrated H2SO4 . 4 o \(‘ ‘\\‘3 \;2\“\"
\}aﬂ’hydrous ZnCI2 d) pyridine Q ; : ;‘;}\:\%0\\@1‘\
/ \‘\\.‘_\)\}\A\',
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Note:- Attempt all Questions. Each question is of 1 mark.

_lim_ g tanX
. Ql.Valueof log(1+x) i

NE ! (b)0 (c) does not exist (d) none of these =

Q2.1f Y s =-'x +V1+X" en the value of (1+x2)y2+xyl is

a2y ‘ (b) ny2 (c )n2y2 (d) none of these L
Q3.1If FAY=5 thenat .

Y & 4 LA
(a) x=0,y=0, &=0  (b)x=0,y=1, &=0  (ox=1,y=1, dx =] (d) x=1, y=0, dx=1
dy
Q4. If sin (x+y) = log (x+y) then dx is
o (a)2 (b)-2 (o)1 (-1 -
5. The probability that the 13th day of a randomly chosen month is second Saturday is
1 1 1 19 -
@7 2 @3 (@ 84 -

6. A single latter is chosen random from the word PROBABILITY. The probability that the word is a vowel is

-
_ )
p \ v //

2 3

(@) 11 oM




7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time tzken
by the boat to go 68 km downstream.

(a) 2 (b) 3 (o4 d)s L
8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145 (b) 150 (c)
155" (d) 160° & B

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 ()8 ©5 )9

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (c)all real no are complex no. (d) he is an engineer. .

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

(a) Negative (b) Zero (c) Positive (d) None of the options (-~
12.The potential energy of a system increases if work is done
(a) upon the system by a non-conservative force (b)by the system against a conservative force i
(c) by the system against a non-conservative force (d) upon the system by a conservative force
13.1f a light body and heavy body have same kinetic energy, then which one has greater linear momentum? -
(a) Lighter body ,\(p}/Heavier body (c) Both have same momentum (d) Can’t be predicted =
14.A light and a heavy body have equal momentum. Which one has greater K.E.?
(ayThe lighter body  (b) The heavier body (c) Both have equal K.E. (d) Dat; given is incomplete
15.Unit of energy is
(a) kwh (b) joule (c) electron volt J(d)All of the above
16.Which of the following is not a conservative force?

(a) Gravitational force  (b) Frictional force (c) Spring force (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the U
_piane, depends on:

\(})«léight of the plane above the ground (b) angle of inclination of the plane
i
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

\@/ﬁ the instant just before the body hits the earth (b) at the highest position of the body



o

 (c) it remains constant all through

(d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will
@Egzease (b)decrease (c) remains the same (d) equal to the K.E. -

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

(a) opposite to one another (b) in the same direction J[c)tegether  (d) at right angle to each other
21. What is the term for a liquid dispersion in another liquid?
«2)Emulsion b) Aerosol
¢) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral . b)-octahedral
¢) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II)
. b) Potassium tetrachloridopalladate(II)Potassium
c¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(II)
24, Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA)
C)Na2(EDTA) d) Co(EDTA) =
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 by Haemoglobin &
¢) Chlorophyll d) Carboxypeptidase-A '
26. What form does nitrogen take in plants’
a) Ammonia b) Amide
_¢)Nitrate d) Nitrite
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period?
a) Size does not change b) Size increases then decreases
c) Size increases d) Size decreases .
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
a)fPlatmum-Rhodlum gauze b) Vanadium (V) oxide
c) Palladium hydride d) Sodium amalgam )
29. Which of the following compounds has an oxidation state of +5 phosphorus? b
a) Peroxodiphosphoric acid b) Hypophosphorous acid ~
¢) Orthophosphorous acid + d)-Hypophosphoric acid - ;
30. Why is nitrogen preferred in the welding and cooling of materials‘?
t is an inert gas b) It i Js nonc

Y @‘D\-xtremely low freezing pomt

c) It’s a gas and can easily be handled e%)‘

ege
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Note:- Attempt all Questions. Each question is of 1 mark.

lim 0 tanx
Q1. Value of log(1+x) i
J}}/’ 1 (b) 0 (c) does not exist (d) none of these -

lin __ 2 .
o2 ¥ =** 14X {hen the value of (1+x2)y2+xyl is

MZY (b) ny2 (c)n2y2 (d) none of these
QB‘ If xCOS}' +yC05.\' - 5 men at |
Y @ & &
(a) x=0,y=0, =0  (b)x=0,y=1, =0 (r=ly=1, &=1  (@x=1,y=0, &=i —
&

Q4. If sin (x+y) = log (x+y) then @ is

()2 (b)-2 ©1 M =
5. The probability that the 13th day of a randomly chosen month is second Saturday is

L 1 1 ) b

7 12 4 — = .. ’/g‘
6. A single latter is chosen random from the wo d P X ILITY. The probability fthat t word is a yowel is

pe gi\dc\“\\?? Wed

2 3 e eat AU qg COLTE
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b)3 (ot 5 o
8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145 (b) 150 ﬁ
155" (g 160’ '

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stfé‘aiﬁ. The speed of the boat in still
water (in km/hr) is:

(a) 3 @8 (c)5 9o

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (¥4l real no are complex no. (d) he is an engineer. . el

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is
(a) Negative (b) Zero 9/Fositive (d) None of the options {7] <

12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force MY the system against a conservative force

(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum? v
i 5

(a) Lighter body y{eavier body (c) Both have same momentum (d) Can’t be predicted

14.A light and a heavy body have equal momentum. Which one has greater K.E.?
() The lighter body  (b) The heavier body (c) Both have equal K.E. (d) Data given is i\;cﬁ(r)rmplete
15.Unit of energy is

(a) kwh (b) joule (c) electron volt _(dYAll of the above -

16.Which of the following is not a conservative force? r

(a) Gravitational force ~_(b)Frictional force (c) Spring force . (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the ‘
plane, depends on: ) <
(j,)’height of the plane above the ground (b) angle of inclination of the plane o

(c) mass of the object (d) All of these

18.A bOd);’ projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

(}«)/alt the instant just before the body hits the earth (b) at the highest position of the body



)

m

i

(c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

=

'/(a)"increase (b)decrease (c) remains the same (d) equal to the K.E.

20.then two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move e

(a) opposite to one another (b) in the same direction L(tar}gether (d) at right angle to each other
21. What is the term for a liquid dispersion in another liquid? ‘
2y Emulsion b) Aerosol .~
¢) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral _bY octahedral il
c) trigonal bipyramidal d) square planar
23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II) ,
Potassium tetrachloridopalladate(IT)Potassium
c¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(II)
24. Which substance is used to determine the hardness of water using a simple titration? -~
a) Mg(EDTA) b) Fe(EDTA) —
a2(EDTA) d) Co(EDTA)
25. The core atom of which of the following biologically significant coordination molecules i is magnesium?
a) Vitamin B12 b) Haemoglobin .-
.)«Chlorophyll : d) Carboxypeptidase-A
26. What form does nitrogen take in plants?
aj ) Ammonia b) Amide
itrate d) Nitrite
27 What happens to the size of atoms in p-block elements when we move from left to rlght in the same period?
a) Size does not change b) Size increases then decreases 1 _ i
c) Size increases Mze decreases
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
latinum-Rhodium gauze b) Vanadium (V) oxide
¢) Palladium hydride d) Sodium amalgam
29. Which of the following compounds has an oxidation state of +5 phosphorus?
eroxodiphosphoric acid b) Hypophosphorous acid
¢) Orthophosphorous acid d) Hypophosphoric acid
30. Why is nitrogen preferred in the welding and cooling of materials? ‘
a) It is an inert gas _Aytisn %oxm Zh
¢) It’s a gas and can easily be handled _é@ﬁt tremely low freezm point
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lim tan x

Y

Q1. Value of log(1+x) j y.
<
(a) 1 M (c) does not exist (d) none of these “

\n __ 2
Q2. 1f Y =X+VI+X" then the value of (1+x2)y2+xyl is

y S g
Jar){y (b) ny2 (c )n2y2 (d) none of these

Q3.1If X4 Y™=5 then at

~

dy ﬂ{ _dl -dl L_,—"/,)‘
(a) x=0,y=0, dx=0  (b)x=0,y=1, &=0 \(};{;1,3;1, dx =1 (d) x=1, y=0, dx=1
@
Q4. If sin (x+y) = log (x+y) then dx s

(a)2 (b)-2 (o)1 (d)- s
5. The probability that the 13th day of a randomly chosen month is second Saturday is

1 1 19

1 :
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b) 3 \/e)f @s & f

8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145° (b) ISOG\_/{df
155" (q) 160° _ g,

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 BE (©5 @9 -

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (c)-all real no are complex no. (d) he is an engineer. .

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

(a) Negative M (c) Positive (d) None of the options

12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force Mhe system against a conservative force/

(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.1f a light body and heavy body have same kinetic energy, then which one has greater linear momentum?
(a) Lighter body \@,l‘(avier body (c) Both have same momentum (d) Can’t be predicted-
14.A light and a heavy body have equal momentum. Which one has greater K.E.?

£

\/(/a'ﬁ'he lighter body  (b) The heavier body (c) Both have equal K.E.  (d) Data given is incomplete

15.Unit of energy is

(a) kwh (b) joule (¢) electron volt \/(,d)ﬁﬂl of the above -

16.Which of the following is not a conservative force?

—

(a) Gravitational force \Wtiona] force (c) Spring force (d) None of these b

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends on:

L
\};v)’é‘ght of the plane above the ground (b) angle of inclination of the plane
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest ,

—

W instant just before the body hits the earth (b) at the highest position of the body



o

)

(c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

yﬂlcrease (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move '

"
(a) opposite to one another (b) in the same direction \Jp)«to/gether (d) at right angle to each other

N}_What is the term for a liquid dispersion in another liquid?
a)

Emulsion b) Aerosol -
¢) Gel d) Foam
22. More than one sort of hybridization can occur in a ¢ lex with geometry.
a) tetrahedral octahedral R
¢) trigonal bipyramidal d) square planar
23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II) "

Potassium tetrachloridopalladate(II)Potassium

¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(II) .
24. Which substance is used to determine the hardness of water using a simple titration?
a) Mg(EDTA) b) Fe(EDTA) 7
\,erﬁfz%nm d) Co(EDTA)

25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin e

hlorophyll - d) Carboxypeptidase-A
26. What form does nitrogen take in plants? ;
a) Ammonia b) Amide _

itrate d) Nitrite : _
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period
a) Size does not change b) Size increases then decreases .
c) Size increases \_-d) Bize decreases N
28. When ammonia is oxidized to form nitric acid, what catalyst is used?

\/a’)éZtinum-Rhodium gauze b) Vanadium (V) oxide 7

¢) Palladium hydride d) Sodium amalgam
29. Which of the following compounds has an oxidation state of +5 phosph(?rus‘?

eroxodiphosphoric acid b) Hypophosphorous a}cxd M
¢) Orthophosphorous acid d) Hypophosphoric acid 3
30. is nitrogen preferred in the welding and cooling of materiflls? )

t is an inert gas b) Itis nopgoxic . : o
¢) It’s a gas and can easily be handled : q&& h@&'t extremely low freezing pol Qemics -»
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream. >

(a) 2 (b)3 \..(6)4/‘ (djs =

\/?/.éclock is started at noon. By 10 minutes past 5, the hour hand has turned through: (a) 145° (b) 150° (¢)
5 (d)160° \

-
9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 s ©5 @9

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (941@31 no are complex no. (d) he is an engineer. J

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

. i o ;
(a) Negative ‘@/Lero (c) Positive (d) None of the options
L-
12.The potential energy of a system increases if work is done
(a) upon the system by a non-conservative force Mﬁ system against a conservative force

(c) by the system against a non-conservative force (d) upon the system by a conservative force
<
13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum?

()

(a) Lighter body \_gba’l%avier body (c) Both have same momentum (d) Can’t be predefgd
14.A light and a heavy body have equal momentum. Which one has greater K.E.?

W lighter body  (b) Tke heavier body (c) Both have equal K.E. (d) Data given is incomplete

15.Unit of energy is

(a) kwh (b) joule (c) electron voit \@/A{;f the above F

16.Which of the following is not a conservative force?

(a) Gravitational force \_(p)/Fﬂctional force (c) Spring force (d) None of these = '
17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the U
plane, depends on:
yl{ight of the plane above the ground (b) angle of inclination of the plane
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest
\434 instant just before the body hits the earth (b) at the highest position of the body



» (c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

-
\Wse (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move ik W

(a) opposite to one another (b) in the same direction \_Lc)'t@ther (d) at right angle to each other

21. What is the term for a liquid dispersion in another liquid?
mulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry..
a) tetrahedral \_,b)%lahedral Wi
c) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].

\wgsim tetrachlorinepalladium(II) \/ 9
otassium tetrachloridopalladate(II)Potassium

N ¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(II)
24. Which substance is used to determine the hardness of water using a simple titration?
a) Mg(EDTA) b) Fe(EDTA) N~
a2(EDTA) d) Co(EDTA)
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin r.7\
c¢) Chlorophyll “_d) Earboxypeptidase-A :
26. What form does nitrogen take in plants?
a) Ammonia b) Amide |
itrate d) Nitrite _
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period”
a) Size does not change b) Size increases then decreases :
¢) Size increases \_d) Size decreases -
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
va')’%tinum Rhodium gauze b) Vanadium (V) oxide
c) Palladium hydride d) Sodium amalgam
29. Which of the following compounds has an oxidation state of +5 phosphorus? ’
Peroxodiphosphoric acid b) Hypophosphorous acid
¢) Orthophosphorous acid d) Hypophosphoric acid

\jﬁo/vmy is nitrogen preferred in the welding and cooling of materials?
[

t is an inert gas b) It is nonétoxm
¢) It’s a gas and can easily be handled d)){t ha%@%xtremely low freez% oipt
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream. i

@2  ®3 @ @5

8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145 (b) 150 (c)
155° 60" e

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 W 5 d9o

10. Which of the following is statement —

(a) Mathematics is easy (b) come here \5%1’1 real no are complex no. (d) he is an engineer. _K - J
11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

(a) Negative }}))‘Zero (c) Positive (d) None of the options

12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force 9,}'5)( the system against a conservative force *-—-
(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.1f a light body and heavy body have same kinetic energy, then which one has greater linear momentum? '*-'
(a) Lighter body }b)‘Heavier body (c) Both have same momentum (d) Can’t be predicted

14.A light and a heavy body have equal momentum. Which one has greater K.E.? .

———

__(})’[’he lighter body  (b) The heavier bedy (c) Both have equal K.E. (d) Data given is incomplete
15.Unit of energy is
(a) kwh (b) joule (c¢) electron volt })’All of the above

16.Which of the following is not a conservative force?
s

(a) Gravitational force c(B)/Frictional force (c) Spring force (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the |

plane, depends on: <
: . /

(}Xhéight of the plane above the ground (b) angle of intlination of the plane

(c) mass of the objeét (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

7

Mt the instant just before the body hits the earth (b) at the highest position of the body L~ '



~

~™

(c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

LG
S}Mncrease (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

—

(a) opposite to one another (b) in the same direction };}ftf)gether (d) at right angle to each other
21. What is the term for a liquid dispersion in another liquid?
/a)’Emulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry
a) tetrahedral _byoctahedral -
c) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II) :
_bYPotassium tetrachloridopalladate(IT)Potassium
¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(Il)
24. Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA)
a2(EDTA) d) Co(EDTA)

25. The core atom of which of the following biologically significant coordination molecules is magnesium?

a) Vitamin B12 b) Haemoglobin

_¢)Chlorophyll ‘ d) Carboxypeptidase-A

26. What form does nitrogen taxe 1n plants?

a) Ammonia b) Amide

oy Nitrate d) Nitrite

27. What happens to the size of atoms in p-block elements when we move from left to rignt in the same period!

a) Size does not change b) Size increases then decreases

c) Size increases — &y Size decreases —

28. When ammonia is oxidized to form nitric acid, what catalyst is used?
latinum-Rhodium gauze b) Vanadium (V) oxide K-

c) Palladium hydride d) Sodium amalgam

29. Which of the following compounds has an oxidation state of +5 phosphorus?

y’Peroxodlphosphorlc acid b) Hypophosphorous acid ke o

¢) Orthophosphorous acid d) Hypophosphoric acid I}

30. Why is nitrogen preferred in the welding and cooling of materials?
t is an inert gas b) It is non-toxic

¢) It’s a gas and can easily be handled d) It has an Q@l&emq)}@o’w fre\rfg‘g\/ (e
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b)3 eyd @s

8. A clock is §taﬂed at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145° (b) 150° (c)
155 ay160" A

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is: )

(a) 3 ®r8 ©5 @9

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (c)all real no are complex no. (d) he is an engineer. St
11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

-

(a) Negative y’Lero (c) Positive (d) None of the options -
12.The potential energy of a system increases if work is done
(a) upon the system by a non-conservative force My the system against a conservative force -

(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum? e
(a) Lighter body ‘}b)’Heavier body (c) Both have same momentum (d) Can’t be predicted -k
14.A light and a heavy body have equal momentum. Which one has greater K.E.?

_ /

.()ﬁ he lighter bedy - (b) The heavier body (c) Both have equai K.E. (d) Data given is incompiéte
15.Unit of energy is
(a) kwh (b) joule (c) electron volt M]l of the above
16.Which of the following is not a conservative force?
(a) Gravitgtional force Mictional force (c) Spring force (d) None of these a2

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends-on:

_(g)/lﬁ)ight of the plane above the ground (b) angle of inclination of the plane .
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

~—7

_(}ﬁ‘t the instant just before the body hits the earth (b) at the highest position of the body



o

* (c) it remains constant all through

(d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

’(}34101'6358 (b)decrease (c) remains the same (d) equal to the K.E. !

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

. -
(a) opposite to one another (b) in the same direction /(aj’logcther (d) at right angle to each other

21. What is the term for a liquid dispersion in another liquid?

mulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral /bf octahedral A
¢) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].
;;/Emassium tetrachlorinepalladium(II)
Potassium tetrachloridopalladate(II)Potassium s
c¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(1I)
24. Which substance is used to determine the ha.rdness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA) A .
Na2(EDTA) d) Co(EDTA)
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin
hlorophyll d) Carboxypeptidase-A
26. What form does nitrogen take in plants?
a) Ammonia b) Amide o
itrate d) Nitrite _ .
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period!
a) Size does not change b) Size increases then decreases
¢) Size increases _dSize decreases .
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
latinum-Rhodium gauze b) Vanadium (V) oxide \
¢) Palladium hydride d) Sodium amalgam ~
29. Which of the following compounds has an oxidation state of +5 phosphorus? 5 \?//
_ﬁ)/Peroxodlphosphonc acid b) Hypophosphorous acid Y"’U\/ ‘
¢) Orthophosphorous acid d) Hypophosphoric acid & \ » P e
30. Why is nitrogen preferred in the welding and cooling of matena}g\" Q@ o, \‘—’\‘\.‘0
a) lt is an inert gas b) It is non- Q, ‘ 09@9,:,;5 2002 Jo?
/)/ t’s a gas and can easily be handled d) It has Jow freezing point q,&‘i"s\. v
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lim tan x
>0 .
Q1. Value of log(1+x) i .
(a) 1 J]:}‘ 0 (c) does not exist (d) none of these
I1/n 2
Q2.If Y " =x+VI+X" gon the value of (14x2)y2+xyl is F
(a)fi2y (b) ny2 (c )n2y2 (d) none of these
Q5. 1f A YT=5 then at ‘
dy dy dy dy

(a) x=0,y=0, &=0  (B)x=0,y=l, &=0 (oy%=l,y=1, &=1  (@x=1,y=0, &=l

@
Q4. If sin (x+y) = log (x+y) then ¥ is

(a)2 (b)-2 ©1 s “

5. The probability that the 13th day of a randomly chosen month is second Saturday is i 2
{
|
1 1 1 19 0@
& — ST i < & U*J
7 12 4 d) 84 &0 - - € e
" ) e " LD o N QD
6. A single latter is chosen random from the word PROBA(E\\-_ Yy The probability that th&“??rié%‘a'??\@ms
P\l P i e\
i Q) k-’\\u v CH
2 3 i ‘:‘S} N L Y ‘g\}\\‘a"\‘
(a) 11 },bfn (c) 11 (d) none of these ()



7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream. 5

@2 O3 4 @5

8. A clock is started at noon. By 10 minutes past 3, the hour hand has turned through: (a) 145 (b) 150 ﬁf
155° (d) 160’ N

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr agamst the stream. The speed of the boat in still
water (in km/hr) is: i

(a) 3 }b)’ﬂ ()5 (d)9 il

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (cyall real no are complex no. (d) he is an engineer. - \__-

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

—

(a) Negative Wero (c) Positive (d) None of the options

12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force Jb}*by the system against a conservative force b
(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.1f a light body and heavy body have same kinetic energy, then which one has greater linear momentum?
(a) Lighter body y’Heavicr body (c) Both have same momentum (d) Can’t be predicted e
14.A light and a heavy body have equal momentum. Which one has greater K.E.?

_ }af)"l“ he lighter body ~ (b) The heavier body (c) Both have equal K.E. (d) Data given i;{ncomplete
15.Unit of energy is

(a) kwh (b) joule (c) electron volt };4&’11 of the above

16.Which of the following is not a conservative force?

(a) Gravitational force @}Tictional force (c) Spring force (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends on:

Wight of the plane above the ground (b) angle of inclination of the plane  A___
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

\(}{ét the instant just before the body hits the earth (b) at the highest position of the body



+ (c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will
‘@Jncrease (b)decrease (c) remains the same (d) equal to the K.E.L -

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

(a) opposite to one another (b) in the same direction /(,o)’fogether (d) at right angle to each other

21, What is the term for a liquid dispersion in another liquid?

Emulsion b) Aerosol -
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral _byoctahedral
c) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].

a) Potassium tetrachlorinepalladium(II)

b) Potassium tetrachloridopalladate(II)Potassium o

N c¢) Potassium tetrachloridopalladium(II)

d) tetrachlorinepalladate(II)

24. Which substance is used to determine the ha:dness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA)
a2(EDTA) d) Co(EDTA) (
25 The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin i
/o)Chlorophyll d) Carboxypeptidase-A -
26. What form does nitrogen take in plants? B
a) Ammonia b) Amide
/)/N itrate d) Nitrite
- “27. What happens to the size of atoms in p-block elements when we move from left to right in the same period.
a) Size does not change b) Size increases then decreases ) b
c) Size increases & Size decreases =
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
a) Platinum-Rhodium gauze _byVanadium (V) oxide "
c¢) Palladium hydride d) Sodium amalgam 7
29. Which of the following compounds has an oxidation state of +§) sphorus"
a)Peroxodiphosphoric acid b) Hypephosphorous acid
¢) Orthophosphorous acid d) Hypophe s hOI’lC acid
30, Why is nitrogen preferred in the welding and coolingd { paterials? |
It is an inert gas _ b)iig pn-toxic a
¢) It’s a gas and can easily be handled & ad) It‘ﬁas an extremely low freezing point
f\ ,-5._,\, s
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b)3 ()4 (d)5
8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through: (a) 145 (b) 150 }
155 (d) 160° R

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 (0% (©5 ()9
10. Which of the following is statement —

(a) Mathematics is easy (b) come here (g,a‘l‘l/real no are complex no. (d) he is an engineer. .\

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

7
LN s

(a) Negative (by Z/ero (c) Positive (d) None of the options |

12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force Lb)’b/yﬂthe system against a conservative force
(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.1f a light body and heavy body have same kinetic energy, then which one has greater linear momentum?
(a) Lighter body @)/Héavier body (c¢) Both have same momentum (d) Can’t be predicted = g
14.A light and a heavy body have equal momentum. Which one has greater K.E.?

-

_(a)The lighter body  (b) The heavier body (c) Both have equal K.E. (d) Data given is incomplete

15.Unit of energy is
(a) kwh (b) joule (c) electron volt ~4df)?fll of the above
16.Which of the following is not a conservative force?
\_‘ B J

(a) Gravitational force (h) Frictional force (c) Spring force (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends on: :

\(/@)xﬁéight of the plane above the ground (b) angle of inclination of the plane )
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth
The power exerted by the gravitational force is greatest

g

( aa"at the instant just before the body hits the earth (b) at the highest position of the body



(c) it remains constant all through (d) at the instant just after the body is projected.
19.If two particles are brought near one another, the potential energy of the system will
\(}J/lgcrease (b)decrease (c) remains the same (d) equal to the K.E. [

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after 001115101’1
they will move

: i
(a) opposite to one another (b) in the same direction Jc)together  (d) at right angle to each other
21. What is the term for a liquid dispersion in another liquid? 5

.ayEmulsion b) Aerosol NS
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral ._b)-octahedral
¢) trigonal bipyramidal d) square planar
23. Determine the proper name for K2[PdCl14].
a) Potassium tetrachlorinepalladium(II)
. b)Potassium tetrachloridopalladate(IT)Potassium ‘
™ ¢) Potassium tetrachloridopalladium(II) =
d) tetrachlorinepalladate(II)
24. Which substance is used to determine the ha.rdness of water using a simple titration?
a) Mg(EDTA) b) Fe(EDTA)
) Na2(EDTA) d) Co(EDTA) A
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin \ 4
+¢) Chlorophyll d) Carboxypeptidase-A
26. What form does nitrogen take in plants?
a) Ammonia b) Amide
. ¢)Nitrate d) Nitrite B
27. What happens to the size of atoms in p-block elements when we move from left to right in the same pei iod?
a) Size does not change b) Size increases then decreases
c¢) Size increases _d)Size decreases -\%
28. When ammonia is oxidized to form nitric acid, what catalyst is used? '
, a)-Platinum-Rhodium gauze b) Vanadium (V) oxide -'
c¢) Palladium hydride d) Sodium amalgam N /\

£ 29. Which of the following compounds has an oxidation state of +5 phosphorus? ' ya
a) Peroxodiphosphoric acid by Hypophosphorous acid b
¢) Orthophosphorous acid d) Hypophosphoric aCide o \x}/ y N.;d\g.ﬂ \o¥
30. Why is nitrogen preferred in the welding and cooling of mate%gls? N0 ' /4-?‘:0-& i ;;y‘:"”' R

. @) Jtis an inert gas b) Itisn ' b 9@'35\ : "0\@1;\'30
¢) It’s a gas and can easily be handled d)Ith fy low freezing point ¥ ¢ o% b\_‘G\
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(b) 0 (c) does not exist (d) none of these L//V

Un __ 2 .
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 ®3  _@&F (@5
\/18} clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145° (b) 150° (c)
557 (q) 160° N

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

@3 _®F  ©5 @9 |\
10. Which of the following is statement —

(a) Mathematics is easy (b) come here \_(;«)’{mal no are complex no. (d) he is an engineer. \_ F
11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

LT

| —

(a) Negative \Q/Zéo (c) Positive (d) None of the options \_

12.The potential energy of a system increases if work is done

. \\_J-)
(a) upon the system by a non-conservative force \Mhe system against a conservative force

(¢} by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum? -

(a) Lighter body \}b)’@vier body (c) Both have same momentum (d) Can’t be p;;cii_c;ted
14.A light and a heavy body have equal momentum. Which one has greater K.E.?
\Me lighter body  (b) The heavier body (¢) Baih have equal K.E. (d) Data give;i_s; i-ll-complete
15.Unit of energy is
(a) kwh (b) joule (c) electron volt \M of the above ~__— :

16.Which of the following is not a conservative force?

\_l/" -
(a) Gravitational force beffrictional force (c) Spring force (d) None of these
17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends on: | : <
4) height of the plane above the ground (b) angle of inclination of the plane
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

\W instant just before the body hits the earth (b) at the highest position of the body



"+ (c) it remains constant all through (d) at the instant just after the body is projected.
19.If two particles are brought near one another, the potential energy of the system will
yr(vrease (b)decrease (c) remains the same (d) equal to the K.E. -

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

{
A
™~
\(}}/{posite to one another (b) in the same direction (c) together  (d) at right angle to each other
\/ilfx\Vhat is the term for a liquid dispersion in another liquid?
Emulsion b) Aerosol .
c) Gel d) Foam o
22. More than one sort of hybridization can occur in a ¢ lex with geometry.
a) tetrahedral medral Y
c) trigonal bipyramidal d) square planar =
23. Determine the proper name for K2[PdCl4].
\—/;))B)msium tetrachlorinepalladium(II)
Potassium tetrachloridopalladate(II)Potassium g

/™, c) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(II)
24, Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA)
I Na2(EDTA) d) Co(EDTA) e

25. The core atom of which of the following biologically significant coordination molecules is magnesium?

a) Vitamin B12 b) Haemoglobin
hlorophyll d) Carboxypeptidase-A

26. what form does nitrogen take in plants?

a) Ammonia b) Amide
itrate ' d) Nitrite P

27. What happens to the size of atoms in p-block elements when we move from left to right in the same period?

a) Size does not change b) Size increases then decreases

c¢) Size increases ~—a)Size decreases I

28. When ammonia is oxidized to form nitric acid, what catalyst is used?
latinum-Rhodium gauze b) Vanadium (V) oxide A_

c¢) Palladium hydride d) Sodium amalgam

.  29. Which of the following compounds has an oxidation state of +5 phosphorus"

eroxodiphosphoric acid b) Hypophosphorous ac1d o

¢) Orthophosphorous acid d) Hypophosphonc acxd

W nitrogen preferred in the welding and cooling of materla@s ) W \%/

t is an inert gas b) It is nonHOXIc +&)

¢) It’s a gas and can easily be handled d) It has anQ 'R)w edzing pbint

<
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1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(@) x°+18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0 @(2/-"1'&+16=0

2 What is the value of factorial Zero (0!) -
(a) 10 (b0 ((_:)/1/ y (d) 1

3. If sin @, +sin @, +sin 6,=3 then cos @,+cos &, +cos 6,=

(a) 3 (b)2 (c)1 Qo

L

4.1fx=rsinfcos ¢ ,y=rsinfsing,z=rcos @ then x” +y’ +z is independent of

@, ¢ ®r,6 (¢ Adr

sin(x + a+b tan x
tnlx+y) = then =

5, If —
sin(x-y) a-b tan y
)
b W A
@~ blab (9 (e 4
6. The equation of the straight line passing through the point (4, 3) and making intekpts on the co-ord'grgte axes
whose sum is -1 is a(\ctﬂ‘(_\“‘\.,_
P\C ol
‘)e‘b‘\' (et \“« \20?
\eryB:-l and x/-2 +y/1 =-1 (b) x/2.-y/3 =-1 andx/2+y/l £ .1 S @{\%}?\.Q\\M
(©)x2+y3=1andx2+y/l=1 @x2-y3 =1 andx/-2 + y?l\— ] Y Gun?
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7.Distance between two parallel planes 2x + y + 2z =8 and 4x + 2y + 4z + 5=0 is

(a) 3/2 (b) 512 Q#2 ()92
8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the

semi—major axis is

(a) 4/3 (b)873 (c)7/3 (d) 5/3

|
9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

(2)(0,2) (b) (0, 1) o)1, 0) (d)(2,0)
T
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z =0 and

Xx—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b) 2 (c) Square Root of 3 (d)2 Square Root of 2
11.If ps, pk and pr are coefficients of static friction, kinr;tic friction and rolling friction, then J
(@) ps<pk<pr  (b)pk<pr<ps (c) pr<pk< ps (d) pr=pk = ps
12.Impulse equals ‘
(a) rate of change of momentum (b)y€hange in momentum
(c) momentum multiplied by time (d) ratt; of change of force
13.“Net fofce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(c) May be in uniformly accelerated motion @J’E‘Om a&b |
14.The coefficient of static friction between two surfaces depends upon
\(3)/the normal reaction (b) the shai)e of the surface in c.ontact A 4

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

@,Kﬁétic friction is always greater than rolling friction



16.No work is done if (a) displacement is zero (b) force is zero
(c) force and displacement are mutually perpendicular  (d) Adl Qf the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

-

(a) Inelastic Collision  (b) Etastic Collision () Destructive collision ~ (d) None of the options
18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(a)1211] () 1371 (c)227]) (d)1821]

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

@}(’)O kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration () Pewer  (d) Displacemen
/™ 21. As an electroplated protective covering, what metal is used?

a) Plutonium omium

c) Nickel d) Iron

22.Which of the following statements concerning transuranium elements is incorrect?

a) Atomic number > 92 b)Example is Thorium

¢) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?

a) They are soft metals with a white silvery colour

b) They tarnish rapidly by cir A

c) The hardness of the metals increases with increase in the atomic
¥ The melting point of the metal ranges from 500-1000K

24. AgCl fails to pass which of the following tests?

a) Alkaline test b) Acidic test
\&)Chromyl chloride test d) Baeyer’s reagent test _

25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

number

a) Concentration of reactants and temperature
 b) Concentration of products and temperature -

.<c)Rate constant and temperature

d) Rate of catalysis and temperature

26. What effect does temperature have on the half-life of a first-order reaction? _

a) It increases k) Itdecreases ¢) It remains the same d) Both increases as well as
decrease

28 In 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time it took to complete 87.5 perc

9:\ of the reaction.

a) 30 minutes b) 60 minutes Ley90 miniites _ o d)1 20 minutes ‘
‘ _)Sb 27, When the molecules of a substance are kept at the surface of a solid or a liquid, what is the name of the process’
a) Absorption Jb)yAdsorption efSorption d) Desorption

X N ; ..
?/q 28. Which of the following assertions bg\a_:ﬂi‘t‘h’g@&\em of physisorption is correct? o ‘ .
a) Increases with increase in temperé PP A Wcre;ses with increase in surface area
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¢) Decreases with increase in the strength of Van der Waals forces d) Decreases with increase in temperature
©O-29. Which of the following is.not a lyophobic colloidal example?

jold solution  b) Sulphur solution ¢) NaCl solution d) Blood
“How are différent colours used to make gold colloidal solutions?
a) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the

-~ quadratic equation.

_ =
\/(0/X2+18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0 (d)x*-18x+16=0

2 What is the value of factorial Zero (Q!)
(a) 10 (b)0 (d)-1 I g

3. If sin @,+sin @, +sin &,=3 then cos @+ cos @, +cos 0=

(a) 3 (b) 2 ©1 o Lpd™

4.1fx=rsin6cos ¢ ,y=rsinfsing,z=rcos & then x’ +y” +z’ is independent of

@e,¢ (b6 (€r,¢ (dr "’&

sTn(x+y) =a+b - tanx _
sin(x—y) a-b t

any
@2  ®ab (c)% \/ﬁb 0}\
a

6. The equation of the straight line passing through the point (4, 3) and making intercepts o} the co-
whose sum is —1 is

5. If

c’@s\t:\&-\\\:‘}"
@x2+yB=-landx/2+y1=-1 (O)x2-yB=-landx/2+y1=-1 | WP o8
(C)x2+y3=1and x/2+y/1=1 (d)x/27y/3 = kand x2@ y/1 = 1 O oo
& cob R
a0 g
IR |
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7.Distance between two parallel planes 2x +y + 2z =8 and 4x + 2y + 4z + 5=0 s

(a) 32 512 (c) 712 (d) 9/2 A e

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the
semi—major axis is

(a) 4/3 - 8/3 (c)7/3 (d) 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at
(a) (0,2) (b) (0, 1) Mﬁ)-) @@2,0

10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z = 0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b)2 (c) Square Root of 3 \,(,dﬂQ/Square Root of 2 88
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then w
(@ps<pk<pr  (b)pk<pr<ups Mﬂﬂ“uﬁ (d) pr=pk = ps -
12.Impulse equals
(a) rate of change of momentum Mange in momentum
(¢) mo.suentum multiplied by time (d) rate of change of force -
13.“Net fofce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest | (b) May be in uniform motion
(c) May be in uniformly accelerated motion \/(d')ﬁoth a&b -
14.The coefficient of static friction between two surfaces depends upon
Me normal reaction (b) the shape of the surface in contact ) gt
(c) the area of contact (d) None of the these =
15.Which of the following statements about friction is true?
(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body

(c) Frictional force is proportional to the area of contact between the two surfaces

(d) Kirtetic friction is always greater than rolling friction \
\_



"16.No work is done if (a) displacement is zero (b) force is zero

-
(c) force and displacement are mutually perpendicular Me above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

>

(a) Inelastic Collision \Q/Eﬁstic Collision (c) Destructive collision  (d) None of the options

18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(@) 1217 _(b)147 ] (c) 2271 (d) 1827 —

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

\/Ca’)/ll 00 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh —
20.The rate of doing work is called . (a) Force (b) Acceleration Wr (d) Displacemen
™ 21. As an electroplated protective covering, what metal is used?
a) Plutonium Chromium 1
c) Nickel d) Iron

22.Which of the following statements concerning trapsuranium elements is incorrect?
a) Atomic number > 92 \/T;?E'lsxample is Thorium -
c) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?

a) They are soft metals with a white silvery colour "

+b) They tarnish rapidly by air —

~

ey hardness of the metals increases w1th increase in the atomic number
e melting point of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test N™
omyl chloride test d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature

ycentration of products and temperature Ao

ate constant and temperature
d) Rate of catalysis and temperature
26. What effect does temperature have on the half-life of a first-order reaction? _
a) It increases \)))’If%eggreases ¢) It remains the same - ~d) Both increases as well as
decrease
f?."ﬂ 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time it took to complete 87.5 perc
t

he reaction. e A
a) 30 minutes b) 60 minutes (2" C}Q\\@anutes — d) 120 minutes

When the molecules of a sub:g e ansl t‘g)t at the surface of a solid or a liquid, what is the name of the process’
a) Absorption \bggsorptio\\\ o ¢) Sorption d) Desorption

24. Which of the following s@bout the di(tent of physisorption is correct? o ‘
a)'Increases with increase’n emperatur & b) Dﬁreases with increase in surface area
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c) Decreases with increase in the strength of Van der Waals forces
©? Which of the following is not a lyophobic colloidal example?
old solution  b) Sulphur solution ¢) NaCl solution
30. How are different colours used to make gold colloidal solutions?

})«Dé;cases with increase in-temperature
\.._/ - -

d) Blood A

a) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

e

(a) x> +18x+16=0 (b)x* - 18x-16=0 (c)x2+18x-16=0W2-18x+16=0

2 What is the value of factorial Zero (0!)
(a) 10 (b) 0 /(,Cr) 1 (d)-1 L

3. If sin @, +sin 6, +sin @,=3 then cos @, +cos &, +cos 0=
(a) 3 (b).2 (c)1 })—0 -
4. 1fx=rsinfcos ¢ ,y=rsinfsing, z=rcos & then D +y2 +z° isindependent of

ﬁ)ﬁwﬁ (b)r, @ €r, ¢ (dr

& sin(x + ) =g+b then tanx _

sin(x—y) a-b tan y

b a
- b) a-b = dath
- (b) a 94 (d) a+ D\/\Q//

- ﬁ“c" AN
6. The equation of the straight line passing through the point (4, 3) and making mtercepts on the co- orcl\l%ga ; tes sCO Q
whose sum is -1 is o PP et 0
oW > g G S

'\1D 0\)\‘3

(a)x/2+yA=-landx/-2+y/1=-1  (b)x/2% y" \&‘e‘aad x/2+yll=-1 "~

(©)xR2+y/3=1andx/2+y/l1=1 }g,)»x/%‘\ o




7.Distance between two parallel planes 2x + y +2z=8 and 4x + 2y + 4z + 5=0is .

(a) 3/2 (b) 52 712 @on &

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of tic
semi—major axis is ;
5 -

L
(a) 4/3 /(b)/ 8/3 (c)7/3 (d) 5/3
9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at
(2)(0,2) ®) (0, 1) _©0,0 @0
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z= 0 and
x—y + 2z =4. The distance of the plane from the point (1, 2, 2) is = :
(a) 0 (b)2 (c) Square Root of 3 W Square Root of 2
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then -
(@ps<pk<pr  (b)pk<pr<ps _(©pr<pk<ps (d) pr = pk = ps gt
12.Impulse equals
(a) rate of change of momentum _(b)change in momentum T 3
(c¢) momiciitum multiplied by time (d) rate of change of force
13.“Net fofce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(c) May be in uniformly accelerated motion @’Botb a&b
14.The coefficient of static friction between two surfaces depends upon
_(/ayfﬁe normal reaction (b) the shape of the surface in contact _ o L4

(c) the area of contact (d) None of the these

1 5.Which of the following statements about friction is true?
:(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) .Fri‘t;tional force is proportional to the area of contact between the two surfaces

fd/)Kfnetic friction is always greater than rolling friction



16.No work is done if (a) displacement is zero (b) force is zero
(c¢) force and displacement are mutually perpendicular (d) All of the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain

conserved? ; @/

(a) Inelastic Collision ‘(/b)«Elastic Collision (c) Destructive collision  (d) None of the options

18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

(a) 121] WJ (c)227] (d)1821] |

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?
WU kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh L=

20.The rate of doing work is called . (a) Force (b) Acceleration ‘_(pj’ower (d) Displacemen

21. As an electroplated protective covering, what metal is used? A

a) Plutonium __byChromium |

c) Nickel d) Iron -

22 Which of the following statements concerning transuranium elements is incorrect?

a) Atomic number > 92 __byExample is Thorium -/

c) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour )
¥ They tarnish rapidly by air SN
c) The hardness of the metals increases with increase in the atomic number
d) The melting peint of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test %
_&) Chromyl chloride test d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature

b) Concentration of products and temperature \
ate constant and temperature

d) Rate of catalysis and temperature

26. What effect does temperature have on the half-life of a first-order reaction? A

a) It increases b) It decreases = M remains the same d) Both increases as well as

decrease

28: In 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time it took to complege 87.5 perc

of the reaction. \& & A ®§

_a)y30 minutes b) 60 minutes c)y90'min - d)120m utés ,
2%. When the molecules of a substance are kept at the guzf e i (cj;"x@ solid or a liquid, what is the n _ the Q\rggesiﬁ
a) Absorption _b) Adsorption A W @50\ C,‘-‘\"\; :
28, Which of the following assertions about the\éxfenmf hysisorption is correct" O 2
a) Increases with increase in temperature )/Decreases with mcr@& lr\s@lﬁ' age,\a’rea

Ao
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c¢) Decreases with increase in the strength of Van der Waals forces d) Decreases with increase in temperature
2. Which of the following is not a lyophobic colloidal example? 1 i

_a) Gold solution b) Sulphur solution c¢) NaCl solution d)Blood \_ -
-+ 30. How are different colours used to make gold colloidal solutions?
a) Different diameters of colloidal gold particles b) Variable valency of gold
¢) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(@)x*+18x+16=0 (b)x*- 18x-16=0 (c)x’+18x-16=0 W2-18x+16=0 |

2 What is the value of factorial Zero (0!)
(@) 10 (b) 0 @+ @

3.1fsin @, +sin @, +sin @,=3then cos ,+cos @, +cos ;=

(a) 3 (b) 2 ()1 Jde

4. Ifx=rsindcos ¢ ,y=rsinfsing, z=rcos & then X+ +z% isindependent of
v, ¢ (b)r, 6 (cr,¢ (dr

8. if sin(x + y) =ar+b then tan x i}

sin(x—y) a-b tan y

-

-

(a) »S (b) a-b \(}y% (d) a+b

%

/"' {
— |

6. The equation of the straight line passing through the point ( axe}d\xgakmg mterce& e fo- ordmat%
, cad

‘o \\I o

whose sum is—1 is Q"(\ %“Ps 0
(\0\ A ¥ t’ﬁo ;(\'( \\_A A
(a)x2+y3=-landx/-2+y/1=-1  (b)x/2-yBS~- { ahd 4/-2 +y/1 =- R gt

(c)x2+y/B3=1landx2+y/1=1 /2 -y3=1 and x/-2 +y/1=1_




7.Distance between two parallel planes 2x +y +2z =8 and 4x + 2y + 4z + 5 =0 s =

(a) 3/2 (b) 5/2 (c)7/2 (d) 972

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the
semi—major axis is

(a) 4/3 (b)8/3 ©73 @) 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

(a) (0,2) () (0, 1) (1,00 (d)(2,0)
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y +z= 0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b)2 (c) Square Root of 3 \W Square Root of 2
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then &
(@)ps<pk<pr  (b)pk<pr<ps J(Qpr <pk<ps (D pr=pk=ps
12.Impulse equals
(a) rate of change of momentum (b)change in momentum
“{c) .uomentum multiplied by time (d) rate of change of force =
13.*Net fofce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(c) May be in uniformly accelerated motion  (d)Botha&b .~ =
14.The coet:ﬁc;eht of static friction between two surfaces depends upon
(@)the normal reaction (b) the shape of the surface in contact : A4

-

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

\(/d,)/l(inetic friction is always greater than rolling friction .



o

o

16.No work is done if (a) displacement is zero  (b) force is zero
(c) force and displacement are mutually perpendicular  d) Adl of the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

-\

(a) Inelastic Collision  (b) Elastic Collision (c) Destructive collision  (d) None of the options
18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(a)1211] (b) 14717 (c)227] (d)1821]

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

(a)100 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration (c)Power (d) Displacemen
21. As an electroplated protective covering, what metal is used? il

a) Plutonium by Chromium

c) Nickel d) Iron

22.Which of the following statements concerning transuranium elements is incorrect?

a) Atomic number > 92 \by Example is Thorium

c) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?

a) They are soft metals with a white silvery colour

b) They tarnish rapidly by air

c) The hardness of the metals increases with increase in the atomic number®~
<& The melting point of the metal ranges from 500-1000K

24. AgCl fails to pass which of the following tests?

a) Alkaline test b) Acidic test
&) Chromyl chloride test d) Baeyer’s reagent test

25. Plotting a graph between temperature and reaction rates can reveal the temperature de nce bf reaction rates.

R

a) Concentration of reactants and temperature \ adﬁﬁ‘\éo\\c"“
b) Concentration of products and temperature = ) pe? ,e{\“%._ _Q(,-.\i-\
<) Rate constant and temperature & {;ﬁ%\? Gt

d) Rate of catalysis and temperature @ C}.,:,\\6 ‘ \L.D ‘0\\\\3\-

26. What effect does temperature have on the l‘& oba first-order reaction? .

a) It increases DMt decreases | emains the same—— d) Both increases as well as

decrease (,/(\Q

q 28 In 30 minutes, a first-order reaction is_@)% cortplete. Calculate the amount of time it took to complete 87.5 per¢

of the reaction.

a) 30 minutes b) 60 minutes \&¥90 minutes / S 9120 minutes r
; g\%}’i _When the molecules of a substance are kept at the surface of a solid or a liquid, whgt 15 the name of the process
a) Absorption JbrAdsorption ¢) Sorption ) Desorption
&0\ _ Which of the following assertions about the extent of physisorption is correct? o .
a) Increases with increase in temperature byDecreases with increase in surface area
[
Qe \
NP
ROt -~ a\e
D\(ec A0 r o
’ .‘-\:3:;‘7‘ 3
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c

¢) Decreases with increase in the strength of Van der Waals forces d) Decreases with increase in tempers‘ure
“p 297 Which of the following is not a lyophobic colloidal example?

2 Gold solution b) Sulphur solution ¢) NaCl solution __d)Blood
. How are different colours used to make gold colloidal solutions?
) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
- quadratic equation.

()2 +18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0 (d)x*-18x+16=0

2 What is the value of factorial Zero (0}
(a) 10 (b) 0 (c (d)-1

3.1fsin @,+sin 6, +sin @,=3 then cos @,+cos &, +cos 0=

@3 ()2 @1 o

4. 1fx=rsinBcos ¢ ,y=rsinfsing,z=rcos & then x* +y” +2* is independent of
6,¢ (), 0 (r,¢ (dr

5, if sin(x + y) =a+1’9 then tanx _

sin(x—y) a-b tan y

™
b
(@) = (b)ab \J‘?’%/ (d) 2+b
¢ "aK r‘-ﬁ\\g)li

O e ' T
6. The equation of the straight line passing through thepelat §‘4-;3»)_\.énd making intercepts orkthe c;g.-,midmate axes

whose sum is —1 is P\ € " i
< ‘ / .{\Q' ‘\a‘.l."
( (\};\" oV
- oYy
X

(a)x2+y/3=-land x/-2 +y/l =-1 M- y/3=-1"and x/-2 +y/1 =-1

" e’,a‘\_‘ c‘\"\“\ N y O
(c)x2+y/3=1andx2+y/1=1 (d)x/2-y3=1andx/2+y/1=1 Y et o°
QO ¥ '\3‘5\“"\\‘
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7.Distance between two parallel planes 2x + y + 2z =8 and 4x + 2y + 4z + 5 =0 is

M (b) 572 ©mr N @on

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of thc
semi—major axis is

(a) 4/3 M (©)7/3 () 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

(a) (0,2) (b) (0, 1) 1,0y (d) (2, 0)
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z=0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

y/ (b) 2 (c) Square Root of 3 (d) 2 Square Rgc}‘of 2

11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then

o
(@ps<pk<pr  (b)pk<pr<ps szm/<’uk<us () pr=pk=ps
12.Impulse equals 2l
(a) rate of change of momentum change in momentum
*{c) momentum multiplied by time (&) rate of change of for?:e
-13.*Net fofce acting on an object is found to be zero.” It can be inferred that t/he object
Mf be at rest (b) May be in uniform motion r\
(c) May be in uniformly accelerated motion ~ (d) Botha & b
14.The coefficient of static friction between two surfaces depends upon
\Mmal reaction (b) the shape of the surface in contact <

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

{d) Kinetic friction is always greater than rolling friction”



16.No work is done if (a) displacement is zero  (b) force is zero Y o

X
\(/c\/fcd and displacement are mutually perpendicular (d) All of the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision \jb)‘nlé{dc Collision (c) Destructive collision ~ (d) None of the options

18 Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

(a) 1217 M (c)2271] (d) 1827 _

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

21 p
\}aa/lOO kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration @»Fc@- (d) Displacemen
£ 21. As an electroplated protective covering, what metal is used? N

a) Plutonium hromium

c¢) Nickel d) Iron -

22 Which of the following statements concerning transyranium elements is incorrect?

a) Atomic number > 92 \/b’é::ample is Thorium

c¢) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour
b) They tarnish rapidly by air-
c) The hardness of the metals increases with increase in the atomic number

The melting point of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test

omyl chloride test d) Baeyer’s reagent test

25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
/™  b) Concentration of products and temperature
\_,z)}RZte constant and temperature
d) Rate of catalysis and temperature
26. What effect does tempegature have on the half-life of a first-order reacuon‘?
a) It increases \_pyh/;e;creases o) Tt remaijns the sa% d) Both increases as well as

decrease &
Z?'.‘In 30 minutes, a first-order reaction is 50% complete. Caﬁ
the reaction.

,gmount,of time it took to complete 87.5 perc

a) 30 minutes b) 60 minutes 0 mn%t d) 120 minutes
% When the molecules of a-stbstance are kept at the surface of a solid or a liquid, what is the name of the process’
a) Absorption dsorption ¢) Sorption d) Dcsorptlon \
28 Which of the followmg assertions about the extent of physisorption is correct? \
a) Increases with increase in temperature b) Decreases with increaséjin surface a.re_kad
r) s’ Q\\ " \\ -
A =tk b k\
e 2 \\\‘v v"
D! “‘“U}{lg ‘ 'O‘\S o Q?ﬁ‘ \\\‘“ oo &
D. Ef\g‘né\—\ai\aba <Y . ©
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c) Decreases with increase in the strength of Van der Waals forces Decreases with increase in temperature _

2 Which of the following is not a lyophobic colloidal example?

old solution b) Sulphur solution c¢) NaCl solution d)Blood
30. How are different colours used to make gold colloidal solutions? i
a) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(@)x*+18x+16=0 (b)x*- 18x-16=0 (c)x2+18x-16=0};13'x2-18x+16=0

2 What is the value of factorial Zero (0!)
(a) 10 (b)0 9)/1‘ (d) -1

3.1fsin @, +sin 6, +sin 6,=3 then cos @+ cos &, +cos 0=
(a) 3 (b) 2 (c)1 ‘/l,d)O
4 Ifx=rsinfcos ¢ ,y=rsinfsing,z=rcos € then X’ +y + 2% is independent of

W- ¢ (b)r, @ (chr, ¢  (d)r

& If s%n(x+y) _ a+b — tanx _
sin(x—y) a-b tan y
(a) g (b) a-b (c . (d) a+b , e
a b v o 00\\@
e o X
6. The equation of the straight line passing through the point (4€%. h; ng intercepts orithe co-@rdinate axes
whose sum is —1 is D pl
AT (ot
()x2+y3=-landx/-2+y/1=-1  (b)x2-yB3=-landx/-2+y/l1=-1 C,bé_e«\\_\l(_‘,i\\‘
(©x2+yB3=landx2+yl=1  (dyx/2-y3=1andx/-2+y/1=1 o ?;x\\‘»y
(g {3\ dﬁ\. ky
oy K/} g ‘O' &\) >
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7.Distance between two parallel planes 2x + y +2z=8 and 4x + 2y +4z+5=01is

(a) 3/2 (b) 5/2 }9)«7{’_2 — (d) 972

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the
semi—major axis is

(a) 4/3 (Y83 (©) 73 (d) 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at
(2) (0,2) () (0, 1) Lo1150) (d) (2,0

10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y +z=0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is
(a) 0 (b) 2 (c) Square Root of 3 (dy2 Square Rootof 2
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then U
(@ps<pk<pr  (b)pk<pr<ps (pr<pk<ps (d) pr=Tk = ps
12.Impulse equals |
(a) rate of change of momentum _(,bj\’ phang‘e in momentum
(¢) maientum multiplied by time (d) rate of change of force
13.‘Net foi'ce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(c) May be in uniformly accelerated motion _@/Both a&b -
14.The coefficient of static friction between two surfaces depends upon
_gﬁv)”the normal reaction (b) the shape of the surface in contact
(c) the are; ;)f contact (d) None of the these
15.Which of the following statements about friction is true?
(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

}H’Kinetic friction is always greater than rolling friction



-

16.No work is done if (a) displacement is zero (b) force is zero
(¢) force and displacement are mutually perpendicular /(,d')/ All of the-above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision _(byElastic Collision (c) Destructive collision  (d) None of the options
18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(a) 1217 () A47 7, (c)2271] (d)182]

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

9,)/100 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration }Q’Powér’ (d) Displacemen
™ 21. Asan electroplated protective covering, what metal is used?

a) Plutonium b) Chromium

_SYN ickel d) Iron

22 Which of the following statements concerning transuranium elements is incorrect?.

a) Atomic number > 92 b Example is Thorium .

c¢) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour
b) They tarnish rapidly by air \
) The hardness of the metals increases with increase in the atomic number
_d)'The melting point of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test . b) Acidic test
hromyl chloride test = d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
™  b) Concentration of products and temperature
ate constant and temperature
d) Rate of catalysis and temperature
26. What effect does temperature have on the haif-life of a first-order reaction?

a) It increases b)Tt decreases ¢) It remains the far 29 Both increases as well as

Lo

decrease <
2% In 30 minutes, a first-order reaction is 50% complete. Calcula;éggé‘ 160f time it took to complete 87.5 perc
of the reaction. RO oo
a) 30 minutes b) 60 minutes MO minutes d) 120 minutes
24. When the molecules of a substance are kept at the surface of a Sglid or a liquid, what is §ne name of the process’
a) Absorption b) Adsorption gy Sorption < . (i) Deégorption
26} Which of the following assertions about the extent of physisorption is correct? 'f":‘ .
a) Increases with increase in temperature () b)\Decreas mcr%d‘gggr{\skgg{ace area
NV )\ AN O
"R e % P‘b ._‘(‘\'.‘::. ‘»‘\
RD. Engineeotor 9 o
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_&y Decreases with increase in the strength of Van der W&al}forces d) Decreases with increase in tempcrature
"2, Which of the following is not a lyophobic colloidal example?

a) Gold solution b) Sulphur solution _cyNaCl solution, \/ d) Blood

30. How are different colours used to make gold colloidal solutions?

a) Different diameters of colloidal gold particles b) Variable valency of gold

c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- _Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(a) x>+ 18x+16=0 (b)x* - 18x-16=0 (c)x2+18x-16=W18x+16=0

L

2 What is the value of factorial Zero (0!)
10 (b) 0 (©)1 @-1a"

3.1f sin @, +sin @, +sin 6,=3 then cos @ +cos 6, +cos 0=

(a) 3 (b) 2 (€)1 M

4.1fx =rsin@cos ¢ ,y=rsinfsing,z=rcos  then x* +y* +2’ isindependent of

\)we./;é b)r,8 (Ar,¢ (dr

sin(x + t
5. If in( y)=a+b then X s

sin(x-y) a-b tan y

b
- g i 4 \};;/ (d) a+b @ H_D\\ege
AN

6. The equation of the straight line passing through the point (4, 3 '

whose sum is —1 is _,LO}:’ 1| P e
c-\\ ¢ v
e
(a)x/2+y/3=-1and x/-2 +y/l =-1 (b) x/2 =-1and x/-2 +y/1 :\E\-&" 55‘% \“wb “33
(c)x2+y/3=1and x/2+y/l1=1 (d)y%/2 - y/3—1andx/2+y/1*1 Qe %\{:v &f‘b
Q_Q 0‘&}
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7.Distance between two parallel planes 2x +y + 2z =8 and 4x + 2y + 4z + 5=0is

(2) 312 (b) 5/2 M () 972

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the lengiii ol the

semi—major axis is
o

(a)473 (b) 8/3 : ©) 73 (d) 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

|

i ’
(2)(0,2) (b) (0, 1) - (©)(1,0) (@ (2,0)
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z =0 and

!

Xx—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a)0 (b) 2 (c) Square Root of 3 Ware Root of 2

11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then

)
@ps<pk<pr  (b) pk < pr < ps M“‘S () pr =k = ps

12.Impulse equals

(a) rate of change of momentum \_ﬂ))f@;_ i,n-momé;tum

(c) momentum multiplied by time (d) rate of change of force

13.*Net fo'rce acting on an object is found to be zero.” It can be inferred that the object

(a) May be at rest (b) May be in uniform motion

(c) May be in uniformly accelerated motion \M & b.

14.The coefficient of static friction between two surfaces depends upon

(a) the normal reaction \/@5@ shape of the surface in con'{ét g

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

(d) Kirfetic friction is always greater thantolling friction
4 w



“ 6.No work is done if (a) displacement is zero (b) force is zero
(c) force and displacement are mutually perpendicular 11 of the above
-

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision MIC Collision (c) Destructive collision  (d) None of the options

“~

18 Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

o

(ay1211] (b) 147 ] (c)2271] (d)1823 ‘\J

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

J(zﬁ)o KWh (b) 200 kWh (c) 120 kWh (d) 500 kWh—

20.The rate of doing work is called . (a) Force (b) Acceleration Wr_ (d) Displacemen
£ 21. As an electroplated protective covering, what metal is used?

a) Plutonium \/ﬁfcuzrtomimn

¢) Nickel d) Iron

22.Which of the following statements concerning tr ium elements is incorrect?

a) Atomic number > 92 Example is Thorium

¢) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour
b) They tarnish rapidly by air -

\/;:)(1115 hardness of the metals increases with increase in the atomic numbel

) The melting point of the metal ranges from 500~ 1000K\
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test
\,ca/élkromyl chloride test ~d) Baeyer’s reagent test

25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
. b) Concentration of products and temperature
ate constant and temperature
d) Rate of catalysis and temperature
26. What effect doej;;nlye{ature have on the half-life of a first-order reaction?

a) It increases t decreases ¢) It remains the same d) Both increases as well as
decrease e
28-1n 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time 1t took to complete 87.5 perc
of the reaction. \/ Q ‘ 5\(3 0\\6(-3
a) 30 minutes b) 60 minutes ¢) 96 -minutes ? “{\Q d) 120 minutes r
2@ When the molecules of asubstance are kept at the surface of{g S&h@ r , what is the name of the process
a) Absorption Adsorption ¢) Sorptith d) Desorption
Which of the following assertions about the extent of phymsorptwn i§ correct? %
a) Increases with increase in temperature b) Decreases with incrgase 1 surface area
() ,.../
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c¢) Decreases with increase in the strength of Van der Waals forces Wes with inecrease in temperature
p— -,

29. Which of the following is not a lyophobic colloidal example? -
a) Gold solution b) Sulphur solution c¢) NaCl solution d) Blood
30. are different colours used to make gold colloidal solutions?
ifferent diameters of colloidal gold particles b) Variable valency of gold
¢) Different concentrations of gold particles d) Impurities produced by different methods
<
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Note:- Attempt all Questions. Each question is of 1 mark. o

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(@)x*+18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0 \@)}3-18“16:0

2 What is the value of factorial Zero (0!)
(a) 10 (b)0 (9% (d)-1

3. If sin @, +sin @, +sin @,=3 then cos @, +cos 6, +cos 0=
(a) 3 (b) 2 (c)1 W ,
4. Ifx=rsinfcos ¢ ,y=rsinfsing,z=rcos & then x? +y* +z* isindependent of

Jar0, ¢ ()r, 6  (@r, 4 (dr

5 if s%n(x+y) _ a+b then tanx _
sin(x—y) a-b tan y
b .
@ = Bab @S (e '
'> . ,fl
6. The equation of the straight line passing through the pomt (4 2 and rﬂakmg intesgepts rdinate axes
whose sum is —1 is _ 3 e
cal™" ) p
i X 9‘53“-516‘(’5“"}{ )
() x2+yB=-landx/-2+y/1=-1  (b)x/2-y{3>-] : 0. ERE e
(©)x2+yB3=landx2+y1=1  (dx2-y3=1andx/2+y/1=] ® pubat-
:sz’lﬁg .
. A\ e
oveEiy oo
gﬂg‘f one?




7.Distance between two parallel planes 2x +y + 2z =8 and 4x + 2y +4z+5=01is

(a) 3/2 (b) 5/2 (e 7/2 (d) 972

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the
semi—major axis is

(a) 4/3 MB (c)7/3 . (@53

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at
(a) (0,2) (®) (0, 1) (041, 0) (d) (2,0)

10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y +z =0 and

x—y + 2z =4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b)2 (c) Square Root of 3 (d)2 Square Root of 2
11.If ps, pk and pr are coefficients of static friction, kir:etic friction and rolling friction, then W,
(@ps<pk<pr  (b)pk<pr<ps {or <pk<ps (d) pr=pk = ps
12.Impulse equals :
[(a)fate of change of momentum (b) change in momentum\/
(c) momeiuin multiplied by time (d) rate of change cf force
13.“Net fofce acting on an object is found to be zero.’ It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(¢) May be in uniformly accelerated motion \(g)aBoth a&b |
14.The coefficient of static friction between two surfaces depends upon
{9,&@ normal reaction (b) the shape of the Eurface in contact e
(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?
\_(,aa’Fﬁction can be reduced to zero (b) Frictional force ca{mot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

(d) Kinetic friction is always greater than rolling friction



16.No work is done if (a) displacement is zero (b) force is zero
(c) force and displacement are mutually perpendicular (d of the above
y perp (d)Afl g

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision  (b) Efastic Collis'rqn (c) Destructive collision  (d) None of the options

18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

(a)121) W? J (c)227] (d) 1821

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?
(8700 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration _(c)Power  (d) Displacemen

) 21. As an electroplated protective covering, what metal is used? |

a) Plutonium b) Chromium
&)y Nickel d)Iron “\

22 Which of the following statements concerning transuranium elements is incorrect?

a) Atomic number > 92 «byExample is Thorium '

c) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?

a) They are soft metals with a white silvery colour

b) They tarnish rapidly by air

) The hardness of the metals increases with increase in the atomic number
&y The melting point of the metal ranges from 500-1000K

24. AgCi fails to pass which of the following tests?

a) Alkaline test b) Acidic test

« &Y Chromyl chloride test : d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
™ 1) Concentration of products and temperature
) Rate constant and temperature
d) Rate of catalysis and temperature
26. What effect does temperature have on the half-life of a first-order reaction?

a) It increases bt decreases ¢) It remains the same d) Both increases as well as
decrease .

9;\?.'8’. In 30 minutes, a first-order reaction is 50% complete. Calculate ghegé.mpqﬂtﬁf time it took to complete 87.5 perc
of the reaction. QY2 “D,; O _
a) 30 minutes b) 60 minutes @% minutegyy . 20 d) 120 minutes

: ‘ﬁb 37 When the molecules of a substance are kept at the su‘rﬁacé%o‘ffa'; {id or a liquid, what is the name of the process’
' d) Desorption

a) Absorption Adsorption ¢) Sorption 7/
0}3 7§ Which of the following assertions about the extent of physis6rption is correct? ‘ . ,i.
a) Increases with increase in temperature b) Decreases with 1pcrcase, surface area

O A
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c) Decreases with increase in the strength of Van der Waals forces d)Pecreases with increase in tempetature |,
30 29. Which of the following is not a lyophobic colloidal example?

\@Gold solution b) Sulphur solution c) NaCl solution d) Blood.
30.-How are different colours used to make gold colloidal solutions?
a) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1. The line passing through the points (5, 1, \i)(‘:jn}(& b, 1) crosses the yz—plane at the point (0, 17/2, -13/2) Then
(a)a=2,b=8 (b)a=4,b=6 a=6,b=4 (da=8,b=2
o "y
2. For what value of x, f(x) = |2x — 7| is not derivable.

y/ (b) 72 (©)5 )7

3. The derivative of logs (3x +5) is
2i ' L6 (B4 5) \_(];)4 © log.(3x+5)  (d)0
x5 e 3x+5 AR

X = e then Lis
dx

1 //—’ X X
a) — by —— c d) None of these "
(a) N ( . (c) Tox (d) Non e Ao
5. A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none

of the balls drawn is blue INS
(b) (a)10/21 11/21 (€)2/7  (d)5/7

6. Three houses are available in a locality. Three persons apply for the houses. Each applies for one house without
2

(a)

consulting others. The probability that all the three apply for the same house is

(a) 5/9 )89  (d)419_

7. Which of the following sentences is statement-

(a) Today is cloudy (b) Answer the question  (c) Look at here \_yehén of 5&2is9

8. Negation of the statement. Every natural number is an integer. Is - ‘

- ¥
‘_,\)s"lnteger. (c) Every nalu_ra_]__no. 1s not an nteger. \an_/ w
sG> u
NN
i \V}/ TP N
j @r O 2
Eng\ng a \db‘-""} N /trbb‘ ol

RDD na.

(a) Natural no. is rational no. (b) Natural

L ” 3 ?



9. The statement “V2 is complex number” is 2
' LN
(a) True (b) False (c) True as well as False (d) none of these.

10. The difference between a two-digit number and the number obtained by interchanging the positions of its digits
is 36. What is the difference between the two digits of that number?

(a)3 (b)9 (0) 12 V(;m/ K o

11. Newton's first law of motion describes the

(a) energy (b) work \(/c)‘lértia (d) moment of inertia -

il

12. Newton’s second and third laws of motion lead to the conservation of

\()aﬁlear momentum (b) angular momentum (c) potential energy (d) kinetic energy
L

13. Inertia is the property of a body linked to tendency of a body

(a) to change its position (b) to change its direction (c) to change the momentum, (d) 16 resist any change in its
state N

14. It is difficult to move a cycle with brakes on because . W
(a) rolling friction opposes motion on road (b) sliding friction opposes motion on road

(c) rolling friction is more than sliding friction sliding fribti’dﬂfis more than rolling friction

15.A body subjected to three concurrent forces is found to be in equilibrium. The resultant of any two forces

(a) is equal to third force (b) is opposite to third force (c) is collinear with the third force All of these
16.According to Galileo's experiment for a double inclined plane, if slope of second plane is zero and planes
smooth, then a ball is released from rest on one of the planes rolls down and move on the second plane ... X...
distance. Here, X is )

(a) zero \(p)/lézmite (c) equal to length of first plane (d) None of these

17.A cannon after firing recoils due to

(a) conservation of energy (b) Newton’s second law of motion .ggx){lewton‘s third law of motion
(d) Newton’s first law of motion

18.Frictional force that opposes relative motion between surfaces in contact is called ...........

(a) static friction (b) kinetic friction ‘(pmetic friction (d) static friction

19.No force is required for wd



" (c) an object moving with constant acceleration (d) an object moving in elliptical path.
20).Identify the correct statement.
(a) Static friction depends on the area of contact (b) Kinetic friction depends on the area of contact

(c) Coefficient of kinetic friction does not depend on the surfaces in contact

\)dr)féo'efﬁcient of kinetic friction is less than the coefficient of static friction
21. Formaldehyde form an addition product with CH3 Mgl which on hydrolysis gives
a) Isopropyl alcohol \/b)fEﬁyl alcohol c¢) Methyl alcohol  d) propylalcohol

22. In the electrolytic of CuSO4, the reaction Cu2++ 2e»  Cu takes place at

a) Anod thod: In solution d) None
) Anode \)}Cg ode o ¢)In )
23. Which metal will dissolve if the cell works, Cu | Cu2+ Il Ag+ |1 Ag
k/a;cﬁ b)Ag ¢) Both d) None
24. The standard reduction potentials of the elements A, B, and C are +2.73V,- 1.85 V and -1.36 respectively. The ord
r\/;)f};eir reducing power is -
B>C>A -~~~ bA>B>C c)C>B>A dB>A>C

25. The standard EMF of the cell Zn + GuR+  Cu + Zn2+ is 1.10 at 250C. The EMF of the cell when 01 M (77
0.1 M Zn2+ solution argused will be
10V e b) +0.11V ¢)-1.10V d)-0.30V

26. A smuggler could not carry gold by depositing iron on the gold surface, because
a) Iron rusts

b) Gold is denser

c) Gold has lowerstandard reduction potential than iron
\/d’)/(}zlld has higher standard reduction potential than iron

27. The rusting of iron in catalysed by

H+ P b) 02 ¢)Zn d) Fe
28. An \éﬁv;ample of fossil fuel is
a) Wood b) Gobar gas ©) Charcoal \__d)Petrol
29. Purest form of coal is
~ a) Peat : b) Lignite ‘
b) Bituminous 3 _d)Anthracite

30. Acetaldehyde form an addition product with CH3 Mgl which on hydrolysis gives - ?
\/a’){séct;ropyl alcohol e e .

b) Ethyl alcohol \ ade™ et

c¢) Methyl alcohol ~ et P\__C(‘\‘;\‘\‘Zf a0

d) propyl alcohol . A
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1. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0, 17/2, -13/2) Then
(a)a=2,b=8 (bya=4,b=6 a=6,b=4 (da=8b=2
"

" 2. For what value of X, f(x) = [2x — 7| is not derivable.

\/@/z/ (b) 712 (©)5 @7

3. The derivative of logz (3x + 5) is

35xlog3(3x+5) \@%’g ©) log,(x45) (@0
X \ 5

(@) 3x+

43X = ™" then @ is
dx

(a) 2 &3/1 () E o~ (d) None of these
X b 1+x

5. A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none
of the balls drawn is blue?

(b) (a)10/21 (b) 1121 ()21 \(dy5/7

6. Three houses are available in a locality. Three persons apply for the houses. Each applies for one house without

\:(:?ul-xmg others. The probability that all the three appl{y for the same hous%ls

5/9 (b) 1/9 (c) 8/9 (d) 4/9 N9
7. Which of the following sentences is statement- X~
. y
(a) Today is cloudy (b) Answer the question (cltpdfk a{h e \_,Qd')s/lifn' of 5&2is9 - /\
8. Negation of the statement. Every natural number is an integer. Is \er/

(a) Natural no. is rational no. (b) Natural no. is integer. (c) kvery natural po- 13 not anh&[ﬁlz 8 "a&\.;l' \;.‘ A

€ N Cff{tkb// "‘\" A"-.“::‘:J;'
“ "rl)ﬂ\jo 1\ e v, O pr
D‘fec,-.g CO'F:g” ; T

inee’ Hapad
oS



9. The statement « V2 is complex number” is

\)zt/T;'ue (b) False (c) True as well as False (d) none of these.

S

10. The difference between a two-digit number and the number obtained by interchanging the positions of its- digits
is 36. What is the difference between the two digits of that number?

(@)3 (b) 9 () 12 M Pl

11. Newton's first law of motion describes the

(a) energy (b) work Mrtia (d) moment of inertia._

12. Newton’s second and third laws of motion lead to the conservation of

J,a)’fnear momentum (b) angular‘ momentum (c) potential energy (d) kinetic energy
o
13. Inertia is the property of a body linked to tendency of a body

(a) to change its position (b) to change its direction (c) to change the momenW resist any change in its
state —

-

i
14. It is difficult to move a cycle with brakes on because . A4

(a) rolling friction opposes motion on road (b) sliding friction opposes motion on road

(c) rolling friction is more than sliding friction \(ﬁéing frictio@mofé than rolling friction

15.A body subjected to three concurrent forces is found to be in equilibrium. The resultant of any two forces

(a) is equal to third force (b) is opposite to third force (c) is collinear with the third force\_vgc)l_a’ﬁl of these
16.According to Galileo's experiment for a double inclined plane, if slope of second plane is zero and plancs

smooth, then a ball is released from rest on one of the planes rolls down and move on the second plane ...x...
distance. Here, X is

(a) zero Wnite (c) equal to length of first plane (d) None of these

e

17.A cannon after firing recoils due to

(a) conservation of energy (b) Newton’s second law of motioMMon’s third law of motion
(d) Newton’s first law of motion .

18.Frictional force that opposes relative motion between surfaces in contact is called ...........
(a) static friction (b) kinetic friction \/(«*)’Qnetic friction (d) static friction

O

19.No force is required for



(c) an object moving with constant acceleration (d) an object moving in elliptical path.

20.Identify the correct statement.

(a) Static friction depends on the area of contact (b) Kinetic friction depends on the area of contact

(c) Coefficient of kinetic friction does not depend on the surfaces in contact
"

k);;!')6e:fﬁcient of kinetic friction is less than the coefficient of static friction

21. Formaldehyde form an addjtion product with CH3 Mgl which on hydrolysis gives,
a) Isopropyl alcohol thyl alcohol ) Methyl alcohol ~ d) propyl alcohol K

22. In the electrolytic of CuSO4, the reaction Cu2++ 2e»  Cu takes place at
a) Anode Cathode ¢) In solution d) None

23. Which metal will dissolve if the cell works, Cu | Cu2+ Il Ag+ | Ag
a)Cu b) Ag ¢)Both d) None

24. The standard reduction potentials of the elements A, B, and C are +2.73V,- 1.85 V and -1.36 respectively. The ord
of their reducing power is
m >C>A b)A>B>C ~_e)C>B>A d)B>A>C

25. The standard EMF of the cell Zn + Gu2+  Cu+ Zn2+ is 1.10 at 250C. The EMF of the cell when 01 M 77
0.1 M Zn2+ solution are used will be
+1.10V b) +0.11V c)-1.10V d)-0.30V

26. A smuggler could not carry gold by depositing iron on the gold surface, because
a) [ron rusts

b) Gold is denser
¢) Gold has lower standard reductioirpotential than iron
) Gold has higher standard reduction potential than iron

27. The rusting of iron in catalysed by _
H+ b) 02 " ¢)Zn d) Fe
28. An example of fossil fuel is . b
a) Wood b) Gobar gas ¢) Charcoal \ﬁ‘i’etrol « g
| v
29. Purest form of coal is o W}J RS
&, ™ A oA
ﬁ a) Peat X J" \gnlte PN &QS{;‘ L& '§ a
b) Bituminous O Anthracite /\:tp PP 200
] g B e o L\ :
& > w AT AT
RO ST S < o o, OF
30. aldehyde form an addition product w gl which on hydrolysis gives A% AN
w I b © Vol
sopropyl alcohol Q- Y
b) Ethyl alcohol o
c¢) Methyl alcohol

d) propyk\alcohol

. -"_]
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Note:- Attempt all Questions. Each question is of 1 mark.

1. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0, 17/2, -13/2) Then
(a)a=2,b=8 (b)a=4,b=6 (@a=6,b=4 (d)a=8,b=2

2. For what value of x, f(x) = |2x — 7| is not derivable. =

(a) 2 t9;»')"7/2 ()5S (d) 7
3. The derivative of logy (3x + 5) is .

3 3
AT 5o xlog Bx+5) 0= © log,(3x+5)  (d)0

- 5

- dy

4.1fX = ™ then —Z is
dx

(a) é K()b)/l%x “TE}' f; (d) None of these

5. A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none
of the balls drawn is blue?

(b) @’10/21 (b) 11/21 (c)2/7  (d)5/7

6. Three houses are available in a locality. Three persons apply for the houses. Each applies for one house without
consulting others. The probability that all the three apply for the same house ;&g}e
(a) 5/9 (Pr19 . (c)8/9 (d) 4/9

7. Which of the following sentences is statement-

g@

(a) Today is cloudy (b) Answer the question () Lo&ﬂcoclt here Mm of 5 & 2ys 9

8. Negation of the statement. Every natural number is an integer. Is C\’(\.'\.i.:;“\‘-\.:“}‘
s .
is rati is i : tural no. is not an inte d‘ﬁ‘rg V0% 3628
(a) Natural no. is rational no. (b) Natural no. is integer. [cyEvery natural no. is n g_t,be; gt T\
% Q\ A\
(] N \\%“
. il
Yov _
D\Ter‘iot C.a\‘»f'“'“
R.D. ENGNeST

puhat, G!




9. The statement V2 is complex number” is : -

y‘ rue (b) False (c) True as well as False *__(d) none of these.

10. The difference between a two-digit number and the number obtained by interchanging the positions of itsr digits
1s 36. What is the difference between the two digits of that number?

(a) 3 (b) 9 () 12 T

11. Newton's first law of motion describes the

(a) energy (b) work (c)ifiertia (d) moment of inertia

12. Newton’s second and third laws of motion lead to the conservation of
Wnear momentum (b) angﬁiETmOmentum (c) potential energy (d) kinetic energy
13. Inertia is the property of a body linked to tendency of a body

() to change its position (b) to change its direction (c) to change the momentum (d)16 resist any change in its
state ™
‘ R

14. It is difficult to move a cycle with brakes on because - g
(a) rolling friction opposes motion on road (b) sliding friction opposes motion on road

(c) rolling friction is more than sliding friction (d)sliding friction is more than rolling friction

15.A body subjected to three concurrent forces is found to be in equilibrium. The resultant of any two forces

(a) is equal to third force (b) is opposite to third force (c) is collinear with the third force @,All of these

16.Accerding to Galileo's experiment for a double inclined plane, if slope of second plane is zero and planes o
smooth, then a ball is released from rest on one of the planes rolls down and move on the second plane ...X...
distance. Here, X is

N~

(a) zero lemite (c) equal to length of ﬁrsti)lane (d) None of these

17.A cannon after firing recoils due to

A4
(a) conservation of energy (b) Newton’s second law of motion (c)XNewton’s third law of motion
(d) Newton’s first law of'motion "

18.Frictional force that opposes relative motion between surfaces in contact is called ...........

(a) static friction (b) kinetic friction Q:),kfnetic friction (d) static friction

19.No force is required for



*.(c) an object moving with constant acceleration (d) an object moving in elliptical path.

20.Identify the correct statement.

-
'(}J’Static friction depends on the area of contact (b) Kinetic friction depends on the area of contact
(¢) Coefficient of kinetic friction does not depend on the surfaces in contact

(d) Coefficient of kinetic friction is less than the coefficient of static friction

21. Formaldehyde form an addition product with CH3 Mgl which on hydrolysis gives
a) Isopropyl alcohol JbrEthyl alcohol  ¢) Methyl alcohol  d) propyl alcohol-.

22. In the electrolytic of CuSO4, the reaction Cu2++ 2e»  Cu takes place at

a) Anode _b)yCathode ¢) In solution .. d)None
23. Which metal will dissolve if the cell works, Cu | Cu2+ Il Ag+ | Ag _
a) Cu )XAg ¢)Both ¢ d) None

24. The standard reduction potentials of the elements A, B, and C are +2.73V,- 1.85 V and -1.36 respectively. The ord
of their reducing power is

™ @B>C>A b)A>B>C ¢)C>B>A dB>A>C
e

25. The standard EMF of the cell Zn + Ga+  Cu+ Zn2+is 1.10 at 250C. The EMF of the cell when 0 1 M (7
0.1 M Zn2+ solution are used will be
110V = b) +0.11V ¢)-1.10V d)-0.30V
26. A smuggler could not carry gold by depositing iron on the gold surface, because
a) Iron rusts

jpf\’}old is denser |

¢} Gold has lower standard reduction potential than i iron”
d) Gold has higher standard reduction potential than iton
27. The rusting of iron in catalysed by

&}‘H+ b) 02 L c)Zn d) Fe
28. An example of fossil fuel is
a) Wood b) Gobar gas ¢) Charcoal )y Petrol
29. Purest form of coal is - a o

a) Peat b) Lignite . ©" ' o !:
b) Bituminous nt}uatrtgc) . \3 a

\ ) s " L Gc-; it
30. Acetaldehyde form an addition product with CH3 MgI on hydrolysis é{eq\ﬂ\/ ﬁ\cﬁécm\tl‘ AN
a) Isopropyl alcohol ‘)e‘aﬁ. ct\:\(\',? ot
b) Ethyl alcohol @;\%\f‘\ Goe

of Methyl alcohol Y ‘\,.“\\\\‘-‘ »
d) propyl alcohol '
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Note:- Attempt all Questions. Each question is of 1 mark.

1. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0, 17/2,-13/2) Then
(a)a=2,b=8 (b)a=4,b=6 \(94=6,b=4 (d)a=8b=2

2. For what value of x, f(x) = |2x — 7| is not derivable.
(a) 2 Rl (©)5 d) 7
3. The derivative of logs (3x + 5) is

3 3 |
BY 55 xlog,(3x+5) (b)m"‘ () log,(3x+5)  (d)0

4.1fX = " then % is
dx

1 1—-x x ;
(a) ~ (oY~ — (c) Tom (d)-None of these

5. A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none
of the balls drawn is blue?

() @A021  (©)1121  ©2T @5 e
6. Three houses are available in a locality. Three persons apply or he “hghses Each applies for one house without

consulting others. The probability that all the three apply for tﬁe\s\
(a) 5/9 MO ()89 - (d)49 O

&

. ¢
7. Which of the following sentences is statement- g
L 3 Y S 11,.
(a) Today is cloudy (b) Answer the question  (c) Look at here  ((dySum of 5&?2 1SK 366“\\? )\\u‘,\e
e S P"‘G " i A
. . " AL \aal
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9. The statement «\2 is complex number” is
\(}XT rue (b) False (c) True as well as False (d) none of these.

10. The difference between a two-digit number and the number obtained by interchanging the positions of itsh digits
is 36. What is the difference between the two digits of that number?

(@) 3 ()9 () 12 w4

11. Newton's first law of motion describes the

(a) energy (b) work ‘(/c)«i’ﬁertia (d) moment of inertia

-

12. Newton’s second and third laws of motion lead to the conservation of

(a) linear momentum (byangular momentum (c) potential energy (dr);lvci%ﬂetic energy

13. Inertia is the property of a body linked to tendency of a body

(a) to change its position (b) to change its direction (c) to change the momentum (d)to resist any change in its
state N~

14. It is difficult to move a cycle with brakes on because : <
(a) rolling friction opposes motion on road (b) sliding friction opposes motion on road

(c) rolling friction is more than sliding friction @Sﬁdiﬁg‘ﬁ’i'dia;l is more than rolling friction

15.A body subjected to three cqncurrent forces is found to be in equilibrium. T}ne resultant of any two forces

(a) is equal to third force (b) is opposite to third force SQ)S collinear with the third force (d) All of these
16.According to Galileo's experiment for a double inclined plane, if slope of second plane is zero and plane

smooth, then a ball is released from rest on one of the planes rolls'down and move on the second plane ...x...
distance. Here, X is —A

(a) zero (b) infinite (cyequal to length of first plane (d) None of these

17.A cannon after firing recoils due to

(a) conservation of energy (b) Newton’s second law of motion l(}}"Nev.rlon’s third law of motion
(d) Newton’s first law of motion Ny

18.Frictional force that opposes relative motion between surfaces in contact is called ...........
(a) static friction (b) kinetic friction ‘(yfkinetic friction (d) static friction

O
19.No force is required for



(c) an object moving with constant acceleration (d) an object moving in elliptical path.
20.1dentify the correct statement.
(a) Static friction depends on the area of contact (b) Kinetic friction depends on the area of contact
(c) Coefficient of kinetic friction does not depend on the surfaces in contact
. . . - - . - \v ./‘-1 . -
QX Coefficient of kinetic friction is less than the coefficient of static friction

21. Formaldehyde form an addition product with CH3 Mgl which on hydrolysis gives
a) Isopropyl alcohol J\)’Ethyl alcohol ¢) Methyl alcohol  d) propyl alcohol

22. In the electrolytic of CuSO4, the reaction Cu2++2e»  Cu takes place at

a) Anode .b)Cathode ~__€) In solution d) None
23. Which metal will dissolve if the cell works, Cu | Cu2+ || Ag+ 1 Ag
a)Cu b) Ag ¢) Both d) None
—

24. The standard reduction potentials of the elements A, B, and C are +2.73V,- 1.85 V and -1.36 respectively. The ord
of their reducing power is

"‘*}B>C>A b)A>B>C ¢)C>B>A dB>A>C

25. The standard EMF of the cell Zn + Gu+  Cu+ Zn2+ is 1.10 at 250C. The EMF of the cell when 01 MO
0.1 M Zn2+ solution are used will be
\9&1.10\/ b)+0.11V c)-1.10V d)-0.30V

26. A smuggler could ndf carry gold by depositing iron on the gold surface, because
a) Iron rusts

b) Gold is denser

c) Gold has lower standard reduction potential than iron
9y Gold has higher standard reduction potential than iron

27. The rusting of iron in catalysed by

@+ b) 02 ¢) Zn d) Fe

28. An example of fossil fuel is L
a) Wood b) Gobar gas c¢) Charcoal LcDPetrol

29. Purest form of coal is

i a

~ a) Peat . & - b) Lignite oS \\Q,Q\(( -

b) Bituminous i d) nth{) #éo 0

1 -
30. Acetaldehyde form an addition product with CH3 Mgl w@.@ A olysis gives ae® e aR¥
Y Isopropyl alcohol - ?\Q- GO o8 P 0% L ad

b) Ethyl alcohol . Dﬂ\%\. oo X

¢) Methyl alcohol L R

d) propyl alcohol v
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Note:- Attempt all Questions. Each question is of 1 mark.

1. The line passing through the points (5, 1, ) and (3, b, 1) crosses the yz—plane at the point (0, 17/2, -13/2) Then
™ (@a=2,b=38 (b)a=4,b=6 (c)a=6,b=4  (d)a=8,b=2
Ha=6.b-

2. For what value of x, f(x) = |2x — 7| is not derivable.

(a) 2 ®n @5 @7
3. The derivative of logz (3x + 5) is

3 3
: 1 —
@3x+5x og,(3x+5) (b) Ty (© log,(3x+5) do

S’

416X = e then Lis
dx

1 1-x X :
(a) < QJ)/? (c) 1+—x {d)-None of these

- 5. A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none
of the balls drawn is blue?

(b) (a)10/21 by 1121 (©2/7  (d)57

6. Three houses are available in a locality. Three persons apply for the houses. Eagp applie éor one house without
consulting others. The probability that all the three apply for the same hou g C,O\ \e
@59 19 (©89 (@4 w

7. Which of the following sentences is statement-

(a) Today is cloudy (b) Answer the question  (c) Look at here (d)ysamof5 & 21s9 . N
8. Negation of the statement. Every natural number is an integer. Is }

(a) Natural no. is rational no. (b) Natural no. is integer. (¢) Exery natural no. is not an integer. {d) »
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9. The statement «\2 is complex number” is

{a)-True (b) False (c) True as well as False (d) none of these.

.10. The difference between a two-digit number and the number obtained by interchanging the positions of its digits
is 36. What is the difference between the two digits of that number?

@3  ([®9 (c) 12 (d)4

11. Newton's first law of motion describes the

(a) energy (b) work (c)inertia (d) moment of inertia ™~ ‘.

12. Newton’s second and third laws of motion lead to the conservation of

(a) tinear momentum (b) angular momentum (c) potential energy (d) kinetic energy
L

13. Inertia is the property of a body linked to tendency of a body

(a) to change its position (b) to change its direction (c) to change the momentum (d) to-resist any change in its
state

14. Tt is difficult to move a cycle with brakes on because i

(a) rolling friction opposes motion on road @»sliding friction opposes motion on road /

(c) rolling friction is more than sliding friction (d) sliding friction is more than rolling friction

15.A body subjected to three concurrent forces is found to be in equilibrium. The resultant of any two forces
(a) is equal to third force (b) is opposite to third force (c) is collinear with the third force- (d) All of these
16.According to Galileo's experiment for a double inclined plane, if slope of second plane is zero and planes
smooth, then a ball is released from rest on one of the planes rolls down and move on the second plane ...X...
distance. Here, X is

(a) zero (b)infinite (c) equal to length of first plane (d) None of these

17.A éanr;on after firing recoils due to

(a) conservation of energy (b) Newton’s second law of motion (¢) Newton’s third law of motion
(d) Newton’s first law of motion —

18.Frictional force that opposes relative motion between surfaces in contact is called ...........
(a) static friction (b) kinetic friction (g) kifetic friction (d) static friction

19.No force is required for



(c) an object moving with constant acceleration (d) an object moving in elliptical path.

20.Identify the correct statement.

(a) Static friction depends on the area of contact (b) Kinetic friction depends on the area of contact
(c) Coefficient of kinetic friction does not depend on the surfaces in contact
(d)Coefficient of kinetic friction is less than the coefficient of static friction

21. Formaldehyde form an addition product with CH3 Mgl which on hydrolysis gives
a) Isopropyl alcohol b) Ethyl alcohol  ¢) Methyl alcohol  d) propyl alcohol

22. In the electrolytic of CuSO4, the reaction Cu2++ 2e»  Cu takes place at
a) Anode b) Cathode ¢) In solution d) None

23. Which metal will dissolve if the cell works, Cu | Cu2+ || Ag+ | Ag
a)€u b)Ag -~ ¢) Both d) None

24. The standard reduction potentials of the elements A, B, and C are +2.73V,- 1.85 V and -1.36 respectively. The ord \
e of their reducing power is |

a)pB>C>A ; b)A>B>C c)C>B>A dB>A>C
<

25. The standard EMF of the cell Zn + Ga@+  Cu+ Zn2+ is 1.10 at 250C. The EMF of the cell when 01 M €7 |
0.1 M Zn2+ solution are used will be |
a)+1.10V . b)+0.11V c)-1.10V d)-0.30V

26. A smuggler could not carry gold by depositing iron on the gold surface, because : |
a) Iron rusts

b) Gold is denser._

¢) Gold has lower standard reduction potential than iron
)y Gold has higher standard reduction potential than iron

27. The rusting of iron in catalysed by

\a) ) H+ b)) 02 ¢)Zn d) Fe

28. An example of fossil fuel is
a) Wood b) Gobar gas ¢) Charcoal

P 29. Purest form of coal is : "\ &S )
' a) Peat \ _b):\h@l{l( 1\
b) Bituminous ?\Qﬂ}qﬁm

30. Acetaldehyde form an addition product with CH3 Mgl which on hydrolysis gives Tyear Academics
&) Isopropyl alcohol R.D. Engineering College
b) Ethyl alcohol 3 Duhai. Ghaziabad
¢) Methyl alcohol
d) propy! alcohol

'\>'J,'{_',/
Director
R.D. Engineering College
Duhai, Ghaziabad
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Note:- Attempt all Questions. Each question is of 1 mark.

1 R)e line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0, 17/2, -13/2) Then
ma=2,b=8 (bya=4,b=6 (c)a=6,b=4 (d)a=8b=2

. . \/
2. For what value of x, f(x) = |2x — 7| is not derivable.

(a) 2 (b)L72 ()3 @1

3. The derivative of logz (3x +5) is

3 3
log.(3x+5 b) —— log.(3x+5 d) 0

@/mx og;(3x+5) (b) 3225 () og\ﬁ/{_,i) (d)
4.I1FX = then < is

1 1—x x e
(a) — (b}p—— (c) 1—— (d) None\g/fthgse

X X +X P
V in ]

5. A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none
of the balls drawn is blue? e coed®
(b) (a)10/21 (b)1121 (0217  (d)5/7~" A2 400

Hies for one house without

. e

6. Three houses are available in a locality. Three persons apply for the‘,#%l'sﬁé.‘
consulting others. The probability that all the three apply for'the same hiouse is
(a) 5/9 (b)1/9 (c) 8/9 (49

7. Which of the following sentences is statement-

(a) Today is cloudy (b) Answer the question  (c) Look athere  (d)sumof5 & 2is9
o
8. Negation of the statement. Every natural number is an integer. Is

mics .
adel Collet®

ot 24 Y% c -
(a) Natural no. is rational no. (b) Natural no. is integer. (c)Every natural no. is not an intBLa™ ;Tééfm%, )}

Engl 712038
g C_la’/“ > W






Y

o,
9. The statement «\2 is complex number” is
(a) True (b) False (c) True as well as False\/,,-{vd) none of these.
10. The difference between a two-digit number and the number obtained by interchanging the positions of its digits

is 36. What is the difference between the two digits of that number?
™

(a)3 (b) 9 (@12 (d) 457~

11. Newton's first law of motion describes the

(a) energy (b) work (c)inertia (d) moment oPinefla .

12. Newton’s second and third laws of motion lead to the conservation of

(ayinear momentum (b) angular momentum (c) potential errergy""(’cfij)fkinetic energy

13. Inertia is the property of a body linked to tendency of a body

) change its position (b) to change its direction (c) to change the momentum- ‘(_d)to resist any change in its
state ~—"

14. It is difficult to move a cycle with brakes on because

(a) rolling friction opposes motion on road (b) sliding friction opposes motion on road
Jeyrolling friction is more than sliding friction (d) sliding &icti’éf(i?s“rﬁére than rolling friction

15.A body subjected to three concurrent forces is found to be in equilibrium. The resultant of any two forces
(a) is equal to third force (b) is opposite to third force (c) is collinear with the third force (d) Adl of these

 ——

16.According to Galileo's experiment for a double inclined plane, if slope of second plane is zero and
smooth, then a ball is released from rest on one of the planes rolls down and move on the second planc ...
distance. Here, X is

a o @ e
(a) zero Wﬁmte (¢) equal to length of first pl(a&(d*)‘None of these - : ‘{: ‘.\(\,336
: ; oMU

17.A cannon after firing recoils due to ?\9 < y

(a) conservation of energy (b) Newton’s second law of ) ¥notion (c) Newton’s third law of miption ‘

(d) Newton’s first law of motion =

. . . 3 C‘:'\\ i
18 Frictional force that opposes relative motion between surfaces in contact is called ........... P,o‘&de‘m\cﬂ\\%‘
AN 0% 1 ad
. _— R ; e i }fé/f o i (d tatic fickion Daao.\“cf&‘\ 17\.‘)“1-\

[a)static friction (b) kinetic friction (c?ﬁ ine riction (d) static frictio o2 Gne

DA

19.No force is required for
-
(
Y. V.dc
;;v_‘ i “JY,&//
Director
R.D. Engineering College
Duhai, Ghaziabad







% &

) *(c) ‘:a-ﬁ object moving with constant acceleration (d) an object moving in elliptical path.

| 20.1dentify the correct statement.

" (a) Static friction depends on the area of contact (b) Kinetic friction depends on the area of contact
- (0 Coefficient of kinetic friction does not depend or'l\th/e surfaces in contact

(d)Eoefficient of kinetic friction is less than the coefficient of static friction

21. Formaldehyde form an addition product with CH3 Mgl w ich on hydrolysis gives

a) [sopropyl alcohol @Ethyl alcohol «¢) I\/letl:gd‘a.k{olnf}l d) propyl alcohol

22. In the electrolytic of CuSO4, the reaction Cu2++ 2e»  Cu takes place at

a) Anode b) Cathod _¢) In soluti d)N
) An \),Ga ode - ol ¢) In solution ) None
23. Which metal will dissolve if the cell works, Cu | Cu2+ Il Ag+ | Ag

ot their reducing power is

|
a)u b) Ag - ¢)Both d) None
2 B>C>A b)A>B>C x,qE>B>A d)B>A>C

0.1 M Zn2+ solution are used will be

a)+1.10V A0.11V cf-1.10V d)-0.30V
26. A smuggler could not carry gold by depositing iron on the gold surface, because

a) Iron rusts

b) Gold is denser

¢) Gold has lower standard reduction potential than iron

d) Gold has higher standard reduction potential than iron

27. The rusting of iron in catalysed by

@ H+ b) 02 ¢) Zn DFe L

25. The standard EMF of the cell Zn + Ga+ Cu 4;2{\2; is 1.10 at 250C. The EMF of the cell when 0.1 1

28. An example of fossil fuel is
f\Wood b) Gobar gas

29. Purest form of coal is
a) Peat
b) Bituminous

. .. MCS e
30. Acetaldehyde form an addition product with CH3 Mgl which on hydrolysis gives b P‘ca?‘:::“g, Coled
\jli;))"légpl’loplyl 211110101101 o YD Eﬁx%;reéha‘i\abad
hyl alcoho 8 D nabs
| ¢) Methyl alcohol o L

| d) propyl alcohol

FMThe standard reduction potentials of the elements A, B, and C are +2.73V,- 1.85 V and -1.36 respectively. The order
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Note:- Attempt all Questions. Each question is of 1 mark.

v;?be amplitude of a complex number is /2 then the number is
> purely imaginary  (b) purelyreal (c)0  (d) neither real nor imaginary

e 2 Whatis the value of factorial Zero (0)
()10 ()0 ST @-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always

come fogether?
v«.)/sio (b) 1440 (c)2880  (d) 50400

4 LetR={(3,1),(24),42),3,2),(1,3)} be arelation on the set A= { 4,3,2,1 }. The relation R is

(a) a function (b) transitive (c)fiot symmetric (d) reflexive.
5. In triangle ABC, we are given that 3 sinA+4 cosB=6and 4 sin B + 3 cos A = 1. Then the measure of the angl«

is
30° (b)-150° (c) 60° (d) 75° L, ' '
6. The number of values of x in the interval [0, 37] satisfying the equation 2sin"x + 5sinx — 3 =0 is
4 (b) 6 (o1 (d)2 )
7. The line y=mx+c jntersects the circle 2 +y2 ~a? at the most of points.
o (@1 Jw/ ©3 @4 _
. (_\':.«
8 The line 5x — 2y + 4k = 0 is a tangent to 4x* - y*=36 thenk is CA“ ‘:)0.‘\6 ?
, ':_‘H
(a)4/9 (b)2/3 \Wﬁl (d) 81/16 6\@‘\%@& ‘
9. The center of the circle 4x2+4y?-8x+12y-25=0is ? a0 o0 “ // \
@12 6161372 (@321 (932 NP
T Co
10. The line passing through the points (5, 1, a) and (3¢ b, 1) crosses the yz—plane at thgfb of o&\ﬁt{:‘%ﬁ%\x
(a)a=2,b=8 (bya=4,b=6 (c)a=6,b=4 (d)a=8,b=2 ?_m,;}:“o\ﬁ*'—-
5 Q».-?__; 0\)‘@
3, -
o\ﬁ?‘:;" ‘




11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency avelength, focal length  (d) force, acceleration

LN
\

12. Average distance of the Sun from the Earth
(a) light year astronomical unit  (c) fermi (d) parsec -~

S

13.The number of significant figures in the number 0.0028 is,
W7 B3 ©F O
14.Which of the following is not the unit of time
(a)second  (b)minute  (c) month ight year
15Ifx=a+bt+ ctz, where x is in metre and t in second, then what is the unit of ‘c’?

(a) m/s &9452 (© kegm/s (dm¥s

16.The base quantity among the following is,
(a)Speed  (b)area Mgth (d) weight
17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to other. \/('d«){l‘l of the above
18.Which of the following physical quantity has the dimensional formula M'LT?)

(a) work \_gb‘@wer (c) work (d) impul\§¢

19.The dimensions of universal gravitational constant is

Ja([M“L-"T'Z] (b) [M'L'T?] (c) ML

20.Which of the following is dimensionless

(d) M'L'TY)

(a) force/acceleration
(b) velocity/acceleration

(¢) volume/area



T \(d)/en{rgy/ work

21.Scale may be formed inside the boiler due to decomposition of:

__ay CaHCOy),

b) MgCO;
c¢) MgCl, o
d) CaCl,

22. The chemical formula of zeolite is
a) FeS0O,.7H,0
) 12(S04)5.18 H,O
Na20 A1203 XS[02 yH20 N
d) Na2A1203

™

™

23.Which bond has the highest bond energy

02 \)96;2 90" d) 0¥

24.When silicon (Si) is doped with phosphorous (P) we get

a) p-type semiconductor \/b'ﬁ'-type serni¢onductor

c¢) Insulator d) Intrinsic semiconductor

25.A pi-bond is formed by sideway overlapping of a ['

a) s-s orbitals \/bﬁ;_-p orbitals
L\

c) s-p orbitals d) s-p-s orbitals
26. Temporary hardness of water can be removed by

; R P Ganas
a) Boiling

b) Filtration

\_})/Screening st .. Qfg%:x;/

ge. Director _
= ; ¢ & genng O
d) Sedimentation ‘.L}QQ\\ R'DOE':EYH' »
A
; O 6

27. Suspension of milk is Al \og

)

A<

e‘i‘“.l\c
E‘\o \“ b\'\ \i \\.\

\‘\ o 1;"

pad



" a) CaCl, /h){;(OH)z ¢) NaCl d) MgCl,

" 28, Whichiof the following is not & Polyamide
a) Leather \)Yéural rubber ¢) Wool- d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is

_)’)/Lithium tetrachloride and triphenyl aluminium /
) Tttt tepachlotide nd timetiyl atominiugs. {7
¢) Titanium oxide
d) Titanium isoperoxide
30. When CH; Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol b) Secondary alcohol

\}X{ertiary alcohol N - d) An aldehyde
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Note:- _Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

{(a)/ purely imaginary  (b) purely real - ()0  (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b) 0 R (-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

(@ 810 (b) 1440  (c)2880 (d) 50400
4LetR={(3,1),(24),42),3,2),(1,3)} be arelation on the set A= {4,3,2,1}. The relation R is

(a) a function (b) transitive (¢) not symmetric {d) reflexive.
5. In triangle ABC, we are given that 3 sinA+4 cosB=6 and 4 sin B + 3 cos A = 1. Then the measure of the angl
is
() 30° (b) 150° (c) 60° (d)75° " . .
6. The number of values of x in the interval [0, 3] satisfying the equation 2sin"x + 5sinx =3 =0 1is
Lga)”4 (b)6 (c)1 (d)2 ' ;

7. The line y=mx+c intersects the circle X +yz =a? at the most of points.
(@)1 o2 ©3 @4 |
8 The line 5x — 2y + 4k = 0 is a tangent to 4x* —y*=36 thenk is o ‘\
' T\ .
@49 )23 (€24 (@ 8116 Qe ns)(l’ |
9. The center of the circle 4x2+4y2-8x+12y—25=0 is ? M- OV 42 \ =
- ?_2 A “'\\ v W ¥
-1,3/2 3/2,1)  (d)(1,-3/2) 0% oW’

(a)(1,2) (b)(-1,3/2) ()(-3/2,1) (d)(1-3/2) 2 P‘GI.{\{-‘Q 3

D AN BV
10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at t\%egq}h\‘:' f@ge;b .
(a)a=2,b=8 (bya=4,b=6  (c)a=6,b=4 (d)a=8b=2 g
: oy ¢
Director

R.D. Engineering College
Duhai, Ghaziabad



11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency WVclengm, focal length  (d) force, acceleration

12. Average distance of the Sun from the Earth
(a) light year Wtronomical unit  (c) fermi (d) parsec
13.The number of significant figures in the number 0.0028 is,

y/(bn ©4 (@5 o

14.Which of the following is not the unit of time

(a)second  (b) minute (c) month _(d)ight year

15.1f x = a + bt + ct’, where x is in metre and t in second, then what is the unit of ‘c’?
(a) m/s Wsz (c) kgm/s  (d) m%s |
16.The base quantity among the following is,
(a) Speed  (b) area C(yﬁngth (d) weight
17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

M convert a physical quantity from one system of 1‘mits to other: ). (d) All of the above
18.Which of the following physical quantity has the dimensional formula M'L’T?]
Mork (__b).power (c) work (d) impulse :
19.The dimensions of universal gravitational constant is
.}){M"UTQ] (b) [M'L'T?] ©) [M'L2T? (4 M'L'T]
20.Which of the following is dimensionless ~
(a) force/acceleration
(b) velocity/acceleration

(¢) volume/area



(d) energyfw

n\--

21.Scale may be formed inside the boiler due to decomposition of:

a/)C/a(HCO;{)z

b) MgCO; N\
c) MgCl,
d) CaCl,

22. The chemical formula of zeolite is .
a) FeS0,4.7H,0

b) Al2(SO4)3.18 H,0 N
Nazo.A1203.XSi02.yH20

d) Na;Al,O3
fa

y

23.Which bond has the highest bond energy
02 b) O3 2 ) 04X d) 0%

24 . When silicon (Si) is doped with phosphorous (P) we get

a) p-type semiconductor \Mtype semiconductor
c¢) Insulator d) IntrinSic semiconductor

25.A pi-bond is formed by sideway overlapping of

a) s-s orbitals \/b),p”-‘p orbitals t
c) s-p orbitals d) s-p-s orbltals )ﬂ
\36( 0\\ & \ l\j\—' S
™  26. Temporary hardness of water can be removed by ?\e,%yg m\c e
0 f\‘o a

- Q\( \'3‘0 ped”. e%‘\ J0a¢

a) Boiling \\’6 E’(\%\ ohe? y
?\0 6 Q\D 0\'\\-\3\

b) Filtration

-
Ly/gcreenjng @(“4,1{,//

3 . for
d) Sedimentation Direclo - en

R D E’""!,glﬂL

hat. ©
27. Suspension of milk is .




*. a) CaCl, })«CE(OH); ¢) NaCl _d)MeCl
‘ 28. Which of the following is not a Polyamide
a) Leather ,b)’(atural rubber “ ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium
Manium tetrachloride and trimethyl aluminium
¢) Titanium oxide it
d) Titanium isoperoxide

30. When CH; Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol b) Secondary alcohol
yértiary alcohol d) An aldehyde
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Note:- Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

a) purely imaginary  (b) purely real  (c).0 ((d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b)0 \_/(éﬁ — (d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always

come together?
J«@g (b) 1440 () 2880 (d) 50400 -

4LetR={(3,1),(24),(42),3,2),(1,3)} bearelation on the set A= { 4,3,2,1 }. The relation R is

" (a) a function (b) transitiv not symmetric (d) reflexive.

5. In triangle ABC, we are given that 3 sinA+4 cosB=6and4sinB + 3 cos A = 1. Then the measure of the angl
is

30° (b) 150° (c) 60° (d) 75°™ i _
6. The pumber of values of x in the interval [0, 37] satisfying the equation 2sin"x + 5sinx — 3 = 0 is
\;;M)N (b) 6 (c) 1 @2 )
7. The line y=mx+c intersects the circle x? +y2 =a? at the most of points.

(a) 1 \9,2/’ (c)3 (d)4 i

8 The line 5x — 2y + 4k = 0 is a tangent to 4x% -y =36 then k is
@49 023 (9 (d) 816~ -
9. The center of the circle 4x°+4y?-8x+12y-25=0is ? /'

e 00;\
@)(12) (B)(13/2) (HB/21) (d) (1:3/2) 0 F
10. The line passing through the points (5, 1, a) and (3¢ b, 1) crosses the yz—plane at the point { :j ;: m—“:"’ 2R
(a)a=2,b=8 (b)a=4,b=6 () a’6,b=4 (ha=8b=2 A colles
e RD: ¥ \ Gha?t
Q\} l pubals
Pk
Director

R.D. Engineering College
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency avelength, focal length  (d) force, acceleration

12. Average distance of the Sun from the Earth

(a) light year \Monomical unit (c) fermi (d) parsec

13.The number of significant figures in the number 0.0028 Ts,
W7 ®3 @4 @5

14.Which of the following is not the unit of time

(a) second  (b) minute (c) month \@/ﬁght year

15Ifx=a+bt+ ctz, where x is in metre and t in second, then what is the unit of ‘c’?

(a) m/s Msz (c)kgm/s  (d) m%s

16.The base quantity among the following is,

(a)Speed  (b) area \(pﬁgth (d) weight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to other. m of the above
18.Whiéh of tht? following physical quantity has the dimensional formula [M1L2T3]
(a) work Mer (¢c) work (d) impulse
19.The dimensions of universal gravitational constant is
_@MUTY @MLUT) @M @ ML

20.Which of the following is dimensionless

Me/acceleration

(b) velocity/acceleration

»

(¢) volume/area



™

™

' (d) energy/work

21.Scale may be formed inside the boiler due to decomposition of:

a) Ca(HCO;),

22. The chemical formula of zeolite is
a) FeS04.7H;0
12(S04)3.18 H,0O
2,0.A1,03.xSi0,. szo .
d) Na,Al,O;

23.Which bond has the highest bond energy

02 \MZ Rt

) 0F d) 0¥

24.When silicon (Si) is doped with phosphorous (P) we get

\/b}/netype semiconductor

d) Intrinsic semiconductor

a) p-type semiconductor

c¢) Insulator

25.A pi-bond is formed by sideway overlapping of

a) s-s orbitals \,b).p/c:%)&rbg%ﬁege
c) s-p orbitals A Ny '@%ébitals
%‘\%\ AS)

26. Temporary hardness of water can be removqlﬂ/

a) Boiling

b) Filtration ¢

\ﬁreening |

d) Sedimentation

27. Suspension of milk is




*, a) CaCl, Vb’ﬁ:‘a(OH)z . <€) NaCl d) MgCl,

‘ 28. Which of the following is not a Polyamide
a) Leather \y’@ural rubber ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium

_/B)/F‘itanimn tetrachloride and trimethyl aluminium
¢) Titanium oxide
d) Titanium isoperoxide
30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol b) Secondary alcohol

/ﬂzrtiary alcohol R d) An aldehyde
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Note:- _Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is /2 then the number is

Murely imaginary  (b) purely (gal ()0  (d) neither real nor imaginary
2 What is the value of factorial Zero ((\)T )

(a) 10 ®)0 o1 (d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

(a)810 (b) 1440 (c) 2880 (d) 50400
4LetR={(3,1),(2,4),(4,2),(3,2),(1,3)}bea relation on the set A = { 4,3,2,1 }. The relation R is

(a) a function (b) transitive (¢)fiot symmetric (d) reflexive.

5. In triangle ABC, we are given that 3 sinA+4 cosB=6and4sin B + 3 cos A = 1. Then the measure of the angl
is

(a)30° (b) 150° (c) 60° d)75° ‘
6. The number of values of x in the interval [0, 3x] satisfying the equation 2sin’x + Ssinx — 3 =0is
W (b) 6 ()1 @2 ;

7. The line y=mx+c intersects the circle 2 +y2 =a? at the most of points.

(@1 B2 (@3 (D4

8 The line 5x — 2y + 4k = 0 is a tangent to 4x* —y*=36 thenk is ,

&
54 NGy {.0\\3(-)
(@)4/9 (b)2/3 (c)9/4 (d) 81/16 “\(\Q‘J

9. The center of the circle e +4y2 -8x+12y-25=01is ? . ?’(\g\ _ \036 “
— a .

(a)(1,2) (b)(-1,3/2) (c)(-3/2,1) ,(d) (1,3/2) -
10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane ah'@_ A 71;%\"5% s
(a)a=2,b=8 (bya=4,b=6 (c)a=6,b=4 (da=8,b=2 —[\c'&d_u ‘ (j."f\":"‘“’
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency WiYglength, focal length  (d) force, acceleration
12. Average distance of the Sun from the Earth
(a) light year p(/b&@stronomical unit  (c) fermi (d) parsec
13.The number of significant figures ir: the number 0.0028 is,
@/f (b) 3 ()4 (@S
“
14.Which of the following is not the unit of time
(a) second  (b) minute (c) month Lg!)/light year
15.If x =a + bt + ct?, where x is in metre and t in se:;md, then what is the unit of ‘¢’?
(a) m/s lgb)ih/sz (c) kgm/s  (d) m¥s L

16.The base quantity among the following is,

(a) Speed (b) area yngth (d) weight -
17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.
\‘\

(c) to convert a physical quantity from one system of units to other: b@»f\ll of the above
18.Which of the following physical quantity has the dimensional formula M'L* T
(a) work | /Uzj’ power (c) work (d) 1mpulse\/
19.The dimensions of universal gravitational constant is
@M'LTY] GMLTY] @MLTY] @MLIT]
20.Which of the following is dimensionless -
(a) force/acceleration

(b) velocity/acceleration

(c) volume/area



~(d) energy/work -
. 1 L/ \

21.Scale may be formed inside the boiler due to decomposition of:

2)-Ca(HCOs),

b) MgCO;

c) MgCly

d) CaCl,

22. The chemical formula of zeolite is

a) FeS04.7H,0

b) Al2(SO4)5.18 H,O _

: azo,Alzog.XSi02.yH20 '

d) Na,Al,O; =

23.Which bond has the highest bond energy

02 by0,” /c\,egz‘ - d) 0
24.When silicon (Si) is doped with phosphorous (P) we get

a) p-tvne semiconductor M—type semiconductor

¢) Insulator d) Intrinsic semiconductor

25.A pi-bond is formed by sideway overlapping of

a) s-s orbitals i/b)qj—;> orbitals
; o\ _-‘\\Q'Cba
c) s-p orbitals d) Sj)’-%ﬂ)ltals o
ah &
26. Temporary hardness of water can be removed by \»C_-;\_Cj“"‘;_" a0
%1\.“ C}\ (g \C‘\'.\n““
a) Boiling agh
: R D:E pat, O
- Du
b) Filtration
yScreening
r— .-
s L0
d) Sedimentation <\§’§/ B
7 ¥
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) c'«(;lc12 ¢b)Ca(OH), oNaCl d) MgCl,
h 28. Which of the followihg is not a Polyamide
a) Leather _b)'Natural rubber " ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium
b) Titanium tetrachloride and trimethyl aluminium
c) Titanium oxide l .
. }5 Titanium isoperoxide
30. When CH; Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Ptimary alcohol b) Secondary alcohol

¢) Tertiary alcohol d)_An aldehyde
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Note:- _Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

(aypurely imaginary  (b) purely real .(c) 0~ (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b) 0 5] ! (-1

b

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

810 (b)1440  (c)2880 (d) 50400

41LetR=1{(3,1)2,4),(42),3,2),(1,3)} bearelation on the set A= {4,3,2,1 }. The relation R is

(a) a function (b) transitives(¢y not symmetric (d) reflexive.

5. In triangle ABC, we are given that 3 sin A +4 cos B= &-and 4 sin B + 3 cos A = 1. Then the measure of the angl:
is

30° (b) 150° (c) 60° (d) 75° = ) . ‘
\yh? number of values of x in the interval [0, 3n] satisfying the equation 2sin"x + 5sinx — 3 = 0is
(a)4 (b)6 (c) 1 (d)2 B~ ;
7. The line y=mx+¢ intersects the circle x2 +y2 ~a? at the most of points.

(@1 M ©3 (4

8 The line 5x — 2y + 4k = 0 is a tangent to 4x* —y*=36 thenk is

@49 )23 (@94 (@ 8116 _ R
9. The center of the circle 4x2+4y2-8x+12y—25=0 is ? ?\e’%/\\ )
(a) (1,2) (b)(-1,3/2) (c)(-3/2,2) Mﬂﬂ “ . e
10. The line passing through the points (5, 1. a) and (3, b, 1) crosses the yz—plane at the point (06,1772
(a)a=2,b=8 (bya=4,b=6 (cyd=6,b=4 (d)a=8,b=2 . ,
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency (c ; a;velengﬂl, focal length  (d) force, acceleration
12. Average distance of the Sun from the Earth -

(a) light year Jb)/agt;onomical unit  (c) fermi“(d) parsec

13.The number of significant figures in the number 0.0028 is,

Jﬂfﬁwn ©4 (@5

14.Which of the following is not Ele unit of time

(a) second (b) minute (c) month -Q{d‘(ght year
15.fx=a+bt + ctz, where x 1s in metre and t"in second, then what is the unit of ‘¢c’?
(a) m/s \g))ész (o kgm/s (d)m¥s 7
16.The base quantity among the following is,
(a) Speed  (b) area ength (q,)"'\;vcight
17. Dimensional analysis can be applied to rd
(a) to check the correctness of a physical equation. \@‘()\/deéve the relationship between different physical
quantities. _
(c) to convert a physical quantity from one system of units to other.  (d) All of the above
18.Which of the following physical quantity has the dimensional formula M'LT?)
(a) work power tc) work (d) impulse .~
19.The dimensions of universal gravitational constant is
\y@%ﬁ GMLT] (@ MLT] &ML
20.Which of the following is dimensionless
(a) force/acceleration

velocity/acceleration

(c) volume/area -~ ~



“(d) energy/work

-

21.Scale may be formed inside the boiler due to decomposition of:

\)a/CEx(Hco_:,)z

b) MgCO;
¢) MgCl,
d) CaC12

22. The chemical formula of zeolite is
a) FESO4.7H20
b) Al2(S04);.18 H,O
' azo.Alzo_?,.XSiOz,szO
d) NazA1203 T .
™
23.Which bond has the highest bond energy

02 70, 90 @ OF

\
\_~

24.When silicon (Si) is doped with phosphorous (P) we get

| a) p-tvne semiconductor ) n-type semiconductor
c¢) Insulator d) Intrinsic semiggnductor

w 25.A pi-bond is formed by sideway overlapping of
a) s-s orbitals
c) s-p orbitals
™  26. Temporary hardness of water can be remﬁk&'by
a) Boiling

b) Filtration

\
I \/‘)éreening B
\'
\

d) Sedimentation R D.

27. Suspension of milk is




*. a) CaCl, /b)’éa(OH)g c) NaCl d) MgCl,
‘ 28. Which of the following is not a Polyamidf:
a) Leather ‘/bj{\Tatural rubber ~ - ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Litbium tetrachloride and triphenyl aluminium
\/b)’fltamum tetrachloride and trimethyl aluminium
¢) Titanium oxide e |
d) Titanium isoperoxide
30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol ) b) Secondary alcohol

/cﬁ ertiary alcohol “ P d) An aldehyde
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Note:- Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

Murely imaginary  (b)purelyreal (c)0  (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b)0 — /(9}1 (d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

(@810 (b) 1440  (c)2880 (d) 50400
4LetR={(3,1),(24),(42)(3.2 ),(1,3 )} be a relation on the set A= { 4,3,2,1 }. The relation R is

(a) a function (b) transitive (¢) not symmetnc (d) reflexive.

5. In triangle ABC, we are given that 3 sinA+4 cos B = 6and4sinB+3cosA=1. Then the measure of the angl
is

_(a) 30° (b) 150° -(c) 60° (d) 75°
6. The number of values of x in the interval [0, 37] satisfying the equatlon 2sin x\éfu/ =0is
\._, &

a6 (9] ()2 5 f w
7. The line y=mx+c intersects the circle x2+y2 —a2 att g@,)bf points. ”@};
@l M2 ©3 @4 .

,,-\(.r‘

. 9@‘} '\1_\‘-‘ .\;\'b
8 The line 5x — 2y + 4k = 0 is a tangent to 4x% - Yk—,‘;& nkis %‘\%:'\ab
AR
@49 ()23 (c)9/4. (d) 81/16 ¥ o8

9. The center of the circle 4% +4y2-8x+12y-25=0is ?
@) (L2) (6)(13/2) (©(3/21) ([dL-3/2)

10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0,
(a)a=2,b=38 (bya=4,b=6 (cya=6,b=4 (d)a=8,b=2
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11.The pair of quantities having the same dimensions is
(a) Displacement, velocity  (b) time, frequency _Lc,)\i"d’?gvelength, focal length  (d) force, acceleration
12. Average distance of the Sun from the Earth
(a) light year _(b)astronomical unit  (c)fermi ' r(d) parsec
13.The number of significant figures in the number 0.0028 is,
@2 ®3 ©4 (D5
14.Which of the following is not the unit of time
(a) second  (b) minute (c) month  (d)light year
15.1f x = a + bt + ct?, where x is in metre and t in second, then what is the unit of ‘c’?
@m/s BYm/s’ (c)kgm/s (d)m’/s
16.The base quantity among the following is,
(a) Speed  (b) area L(9,}\3’1'1gth (d) weight
17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to OEE‘?L édjdl of the above
18.Which of the following physical quantity has the dimensional formula [M'L*T"]
(a) work 7. ;@/power (c) work (d,)\ ifflpul-se
19.The dimension'; of universal gravitational constant is
WM"L3T'2] (b) IM'L'T?] () M'L*T? (@) [M‘L'lTii']
20.Which of the following is dimensionless
(a) force/acceleration
(b) velocity/acceleration

(c) volume/area



(g

- (d) energy/work
S \// ’

21.Scale may be formed inside the boiler due to decomposition of:

a(HCO;),
b) MgCOs
c) MgCl, =
d) CaCl,
22. The chemical formula of zeolite is
a) FeS04.7H,0

b) Al2(SO4);.18 H,0
¢)N2,0.AL0;.xSi0, yH,0

d) N32A1203
23.Which bond has the highest bond energy
02 /bmfz ¢) 0,5 d) 0>
24.When silicon (Si) is doped with phosphorous (P) we get
a) p-type semiconductor @n‘type semiconductor
¢) Insulator d) IntriQsi;; semiconductor
25.A pi-bond is formed by sideway overlapping of
a) s-s orbitals _bDpp orbitals L
¢) s-p orbitals _ d) s-p-s Cﬁ( 18‘\
| \fgo
26. Temporary hardness of water can be removed by
a) Boiling
b) Filtration
ﬂScreemng , 5 i
_ ‘ (\;‘-_‘ N
d) Sedimentation Director

R.D. Engineering College
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*. a) CaCl, _b)€a(OH), ¢) NaCl d) MgCl,
' Lo
" 28 "Which of disfollevigis niot a Polyanide -
a) Leather /b)Natural rubber c) Wdol d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium
: (I}Titanium tetrachloride and trimethyl alyminium
¢) Titanium oxide
d) Tité.nium isoperoxide
30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol b) Secondary alcohol

y-Tertiary alcohol d) An aldehyde
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Note:- _Attempt all Questions. Each question is of 1 mark.

1 If the amplitude of a complex number is 7/2 then the number is

(aa/ purely imaginary  (b) purely real - (¢) 0 (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)

(a) 10 (b) 0 o 5K (d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

da)'810 (b) 1440 (c) 2880 (d) 50400
4 LetR={(3,1),(2,4),(42),3,2),(1,3)} be arelationon the set A= {4,3,2,1 }. The relation R is

(a) a function (b) transitive {c)fiot symmetric (d) reflexive.
5. In triangle ABC, we are given that 3 sinA+4 cos B=6 and 4 sin B + 3 cos A = 1. Then the measure of the angic
is

(a)y30° (b) 150° (c) 60° ~_(d)75°

_The number of values of x in the interval [0, 3x] satisfying the equation 2sin’x + 5sinx —3 =0 is

@4 )6 ©1 (@2

7. The line y=mx+c intersects the circle x?+y2 —a? at the most of points.

@l  m2 ©3 @4

8 The line 5x — 2y + 4k = 0 is a tangent to 4x* —y*=36 thenk is

[ C,0\\60.)‘:
(a)4/9 (b)2/3  (cy9/4 (d) 816~ .-;\o%ad
WL 2
9. The center of the circle 452 +4y2-8x+12y-25=0 is ? =5 _3096
(\.

(a)(12) (b)(-13/2) (0)(3/21) (@13/2)

10. The line passing through the points (5, 1, a) and (3, b, 1) crosses the yz—plane at the point (0. 17
(aA)a=2,b=8 y’a=4,b=6 (€)a=6,b=4 (da=8b=2
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency @)Navelength, focal length  (d) forée, acceleration
12. Average distance of the Sun from the Earth -

(a) light year (p«astronomical unit  (c) fermi\g ‘(-d) parsec

13.The number of significant figures in the number 0.0028 is,
@2 )3 ©4 (@5

14. Which of the following is not the unit of time

(a) second  (b) minute (c) month }gl)rlighrt_ year

15Ifx=a+bt+ ct2, where x is in metre and t in second, then what is the unit of ‘c’?
(a) m/s @,m/s2 (o kgm/s (@ms

16.The base quantity among the following is,

(a) Speed  (b) area /('g)/l'cngth (d) weight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship between different physical
quantities.

(c) to convert a physical quantity from one system of units to other. /(,d)’AIl of the above
18.Which of the following physical quantity has the dimensional formula M'L*T?]

(a) work @p’ower (c) work (d) inipulse |

19.The dimensions of universal gravitational constant is

(@M'L’T? (b) [M'L'T?] (c) [MEIL2T? | (@ M'L'T)

20.Which of the following is dimensionless

(a) force/acceleration

(b) velocity/acceleration

(c) volume/area



-
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“(d) energy/wor
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21.Scale may be formed inside the boiler due to decomposition of:

}/C,a(HCOj)g

=

b) MgCO;
c) MgClz
d) CaCl,
22. The chemical formula of zeolite is
a) FeS0O4.7H,0
b) AIZ(SO4)318 Hzo 1
' Na;O.Alzo:;.XSiOz.szo ol
d) Na2A1203
23.Which bond has the highest bond energy
02 b0, ¢) 0 4 0>
24 . When silicon (Si) is doped with phosphorous (P) we get
a) p-type semiconductor _b) n-type semiconductor

¢) Insulator d) Intrinsic semicofiductor

25.A pi-bond is formed by sideway overlapping of

b
a) s-s orbitals -p orbitals '
b orbitals &5
(OO
c) s-p orbitals dg\ ' Q{b}fiﬂs
l Q) oo e,'(.“\c:% \"\l‘“\t
26. Temporary hardness of water can be removed byQ <0 3 ; : P&%b' “%‘L.'»“\\
?\- 035\‘ g‘\ iy =0
a) Boiling 0%‘\\;,\‘;6 oo
P o

yfiltration

c) Screening 2 . -

: Qg
d) Sedimentation Diréect of

- ki D. Engineering College
T peonetmEE " Duhgi. Ghaziabad



. a) Ca(?lz ‘/b)»Ca(OH)Z c)g\jaCl ' d) MgCl,
28. Which of the following is not a Polyamide
a) Leather })/Natural rubber | ¢) Wool d) Nylon-66
29. The catalyst used in the manufacture of polyethene by Ziegler method is
a) Lithium tetrachloride and triphenyl aluminium
by Titanium tetrachloride and trimethyl aluminium
¢) Titanium oxide
d) Titanium isoperoxide
30. When CH3 Mgl is made to react with acetone and the addition product is hydrloysed we get

a) Primary alcohol , b) Secondary alcohol

¢) Tertiary alcohol A7 d) An aldehyde
/
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Note:- _Attempt all Questions. Each question is of 1 mark.
1 If the amplitude of a complex number is 7/2 then the number is
(a)purely imaginary  (b) purely real  (¢c) 0 (d) neither real nor imaginary
2 What is the value of factorial Zero (0!)
(a) 10 (b)0 (D (d)-1

3 In how many different ways can the letters of the word 'CORPORATION' be arranged so that the vowels always
come together?

(@)810 (b) 1440  (c)2880 (d) 50400

4LetR={(3,1),(2,4),(4,2),(3,2),(1,3)} be arelation on the set A= {4,3,2,1 }. The relation R is

(a) a function (b) transitive (c) not symmetric (d) reflexive. <
5. In triangle ABC, we are given that 3 sinA+4 cosB=6and4 sinB +3 cos A= 1. Then the measure of the anglt
is
(a) 30° (b) 150° Se) 60° (d) 75°

6. The number of values of x in the interval [0, 3n] satisfying the equation 2sin’x + Ssinx — 3 = Oh\s

(a) 4 (b) 6 (©1 @2 ~~ .« %7k
7. The line y=mx+c intersects the circle x? +y2 =az_ at the most of points. - _j/ "\
@1 2 ©3 @4 . Ww e
y W\ \ () ' ’;}7' ;
8 The line 5x — 2y + 4k = 0 is a tangent to 4x* — y%= 36 then kd&®' ¢ 0?*@6{\“:‘5".\;;)'5&\
7 & AP
@49 )23 (094 (d) 81/16 ' Q':\v 9%@& o
¢ O e
9. The center of the circle 4x? +4y2-8x+12y-25=0 is ? 2 O “ O Qj) Q\)\\

(@) (1,2) (b)(-1,3/2) (-3/2,1) (d) (1,-3/2)

10. The line passing through the points (5, 1, a) and (3. b, 1) crosses the yz—plane at the point (0. 17 fh

(a)a=2,b=38 (bya=4,b=6 \(Q,aFﬁ,b=4 (d)a(?&b=2
e
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11.The pair of quantities having the same dimensions is

(a) Displacement, velocity  (b) time, frequency \(Q)Va_yg_lgngth,‘ focal length  (d) force, acceleration
12. Average distance of the Sun from the Earth

(a) light year  (b) astronomical unit  (c) fermi “(d) '}.)arsec

13.The number of significant figures in the number 0.0028 is,
@2 3 ©4 @5

14.Which of the following is not the unit of time

(a) second  (b) minute (c) month @}L’rght year’

15.If x = a + bt + ct®, where x is in metre and t in second, then what is the unit of ‘c’?
(aym/s (b)m/s’ (c)kgm/s (d)m’/s -

16.The base quantity among the following is,

(a) Speed (b) area (Q),}eﬁgth (d)'weight

17. Dimensional analysis can be applied to

(a) to check the correctness of a physical equation.  (b) to derive the relationship betwéen different physical
quantities. 2

N~

(c) to convert a physical quantity from one system of units to other. (&A1l of the above
18.Which of the following physical quantity has the dimensional formula [M'L*T"]

(a) work (b)power  (c)work  (d)impulse -

19.The dimensions of universal gravitational constant is

@MU G MLTY @MIUTY] @ ML

20.Which of the following is dimensionless -

(a) force/acceleration

(b) velocity/acceleration

(¢) volume/area



P @ \eyrg’i/work
21 .Scale may be formed inside the boiler due to decomposition of:

)-Ca(HCOy),

b) MgCO;

¢) MgCl,

d) CaCl;

22. The chemical formula of zeolite is
a) FeS04.7H,0

b) Al2(S04);.18 H,O ~
)Na,0.AL03.x8i05.yH,0

d) N82A1203

23.Which bond has the highest bond energy

02 b 0," O d)

24.When silicon (Si) is doped with phosphorous (P) we get

o*

a) p-type semiconductor b)Y n-type semiconductor
% < '\' .-
c) Insulator d) Intrinsic semiconductor

25.A pi-bond is formed by sideway overlapping of

a) s-s orbitals by p-p orbitals -

, ) pis”
c) s-p orbitals d) s-p-s orbitals ' \[\_@)Ff
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~ 26. Temporary hardness of water can be removed by ~ poo- -V . eﬁf“ C s
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a) Boiling ¢ WA 5 ?ﬁ\qs\f\ 6\\-:.'1.\
O\ . PAD
. . q )‘( i 2 * 0\)\\
b) Filtration .

~¢) Screening \
d) Sedimentation

27. Suspension of milk is




*, a) CgCl; kl?f)/Cﬂ(OH)z ¢)NaQl d) MgCl,

28. Which of the following is not a Polyamide

a) Leather b) Natural rubber A ¢) Wool d) Nylon-66

29. The catalyst used in the manufacture of polyethene by Ziegler method is

a) Lithium tetrachloride and triphenyl aluminium

_b) Titanium tetrachloride and trimethyl-aluminium

¢) Titanium oxide

d) Titanium isoperoxide

30. When CH; Mgl is made to react with acetone and the addition product is hydrloysed we gx_‘:t‘
a) Primary alcohol b) Secondary alcohol

c) Tertiary alcohol o d) An aldehyde
L



